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UGC NET PAPER 2 NOVEMBER 24, 2021 SHIFT 2 PUNJABI QUESTION PAPER

Topic:- GP_24NOV_SH2_A

1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
DepartmentsTota[ NumbEJqua L Total Number |;itlli
F F

IT 250 1 |1 |240 z N
Accounts 123 2 |1 1130 3 |2
HR 90 3 2 30 z N
Marketing |350 5 |2 |343 5 |2
Production [304 l5 |3 [351 5 |4

mitrnT @ IERIa o i su sl Re s geai D aae & &
sl & =18 anforot & el Jieoa 9 Ridica Roneill #d oo ol B siw=n auar ysa 3ie #aidon sepurm 2 sreo

Rrafir wefarft sifereT smenfy wetardt

Eganmw e e F=re
s & 250 |1 [ 1| 240 | 2] 1
vt 123 | 2 | 1 130 | 3] 2
i siemersr| 90 | 3 | 2 30 2] 1
RrooTer 350 | 5| 2| 343 |5 2
Fruiee 304 |5 3] 351 |[5] 4

Find out the average number of regular female employees in the organization,

Horaal ¥ forafie afzen oafenfay &t ofizra sz sa &3 ;

[Question ID = 1211][Question Description = $2_qSNz_PG_GP16_Q01]
1. $3.20/83.20 [Option 1D = 4841]
2. 81.25/81.25 [Option D = 4842]
3. 78.50/78.50 [Option (D = 4843]
4. 79.40/79.40 [Option D = 4844]

Carrect Answer :-
& §3.20/83.20 [Option |0 = 4841]

2) Study the given table and answer the guestions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees

DePartmentsTota[ I.'~|um|::ra»rI|::‘lEl Ho Total Number Ffi

F F
IT 250 1 |1 240 2
Accounts 123 2 (1 [130 3 2
HR 90 3 |2 [30 2
Marketing 350 [5 |2 [343 5 |2
Production [304 l5 |3 [351 5 la

aifernt o 3itaeet @ 3T 3ud ofR v s1o geal @ sar & :
oftar & o enferrr & Roalt verow o faldeor st 3 wor avslenfieil &t viwen aon gey i afdor soarm Rer swr 3
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iSrafim kst feror snendy wHart
fo mm@m o1 3cAT ikl

B gﬁﬂhﬁaﬂ Ha g
T & 250 1 1 240 2 1
D 123 2 1 130 3 2
oI FHFNEST 90 3 2 30 2 1
feraoTe 350 5 2 343 5 2
UG 304 5 3 351 5| 4

Find out the difference between regular male employees and contractual male employees in the organization.

Herod 4 foraldm gru wmafenfyl siie zifder arenfra guu wenfyal &1 sz o1 siaz sua &d 2

[Question ID = 1212][Question Description = $2_q5Nz_PG_GP16_Q02]
2/2 [Option ID = 4845]
3/3 [Option ID = 4846]
4/4 [Option ID = 4847]
5/5 [Option ID = 4848)

N TR WY

Correct Answer -
e 2/2 [Option ID = 4845]

3) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments_l_ota[ Muml::eerLI::ﬂl 20 Total Number F’IG—
F F

IT 250 1 (1 [240 2
Accounts 123 2 |11 [130 3 2
HR 90 3 |2 [30 2 N
Marketing |350 5 |2 |343 5 |2
Production [304 5 |3 [351 5 |4

KRBT T 3MERIe &1 iz JuD ofiwl 67 30 gl & vz & |
ofr &t a1 enferor 3 fosell vistoa @ Rafica sl # o waiRl St dwen qen ysu sz #afar aqura 2w srn

ferafinT et sifereT amenfya aaterst
et : S ) : Sl

R 1T
s & 250 |1 | 1 240 | 2| 1
e 123 | 2 | 1 130 | 3| 2
ira daieer| 90 3| 2 30 2|1
Rrcorer 350 |5 | 2| 343 |5 2
SeuNoT 304 | 5| 3 351 5| 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of
female employees in the production department?

favre fismer d sifgen okl &1 oo s aen sracda et 3 afgon izl & oo s & dfa o g & ?

[Question ID = 1213][Question Description = $2_qgS5Nz_PG_GP16_Q03]
1. 12/13/12/13 [Option ID = 4849]

2. 11/13/711/13 [Option 1D = 4850]

3. 12117712417 [Option 1D = 4B51]

4. 11/15/11/15 [Option ID = 4852]

Correct Answer :-

e 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.
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Regular Employees |Contractual Employees

l::I‘Ehlj‘artmﬂnanc::t.a\[ NumbEJIE:tm Total Number |;—atlli
F F
IT 250 1 |1 |240 2 |1
Accounts 123 2 |1 130 3 |2
HR 90 3 |2 30 z2 |
Marketing (350 [5 |2 |343 5 2
Production [304 5 |3 [351 5 la

e @ 3ieaeet @ 3T 3ud of v sto geal @ saz E :
aftar & o enferr & Rralt verow o fAafieor st 3 wor avslenfi=il &t viwen aon gey i afdar soparm Rer swr 3

Rrafdr wetar®t sifceT smenfat waart
s mm@m o1 3cAT il

. qsu [#ide] qou @iz
3 & 250 1 1 240 2 1
T 123 2 1 130 3 2
o FHFEGT 90 3 2 30 2 1
feraoTer 350 2 2 343 2 2
FrUIGoT 304 5 3 351 5| 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

Foroot # ¥l smenfya gea wakniRi & Fwar aen Afer snendya wfden wabal & A @ Ak sine sra w3

[Question ID = 1214][Question Description = $2_qSNz_PG_GP16_Q04]
1. 298/298 [Option ID = 4853]
2. 295/295 [Option ID = 4854]
3, 302/302 [Option ID = 4855]
4, 307/307 [Option ID = 4856]

Correct Answer :-
a 298/298 [Option |D = 4853]

5) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees lcontractual Employees
l::I‘Ehlj‘artmEﬂt:;Tnc::t.a\[ NumbEJIE:tm Total Number |M—|7Ratm
F F

IT 250 1 |1 |240 z N
Accounts 123 2 |1 1130 3 |2
HR 90 3 2 30 z N
Marketing (350 5 2 [343 5 2
Production [304 l5 |3 [351 5 |a

mMirnT @1 HERIE o i su s Re s geai S aae & &
sl & =1 anforor & el Jisow < Rifdica Roneil 3 wo wamiRl B siw=n auar ysa 3iie #aidon sequrm @ seo

Rrafi wearf siferer smenfy wetard
Rrarer . 3IofaIcT : Sefard

@t Hear o 2 e
airs & 250 | 1 | 1 240 | 2| 1
reT 123 | 2 | 1 130 | 3] 2
omoi diemesr| 90 | 3 | 2 30 2| 1
RraoTer 350 | 5| 2| 343 |5 2
Sl 304 | 5| 3] 351 |5/ 4

Which department has the highest number of female employees?
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fepar fepmer & wfzen owtenfyal &t mafitrs sisn 2 7

[Question ID = 1215][Question Description = $2_qSNz_PG_GP16_Q05]
1. |T/af & [Option ID = 4857]

2. Production/3rawer [Option 1D = 4858]

3. Accounts/zr=n [Option 1D = 4859]

4. Marketing/fimee [Option |0 = 4860]

Correct Answer :-
s |T/anE & [Option ID = 4857]

Topic:- GP_24NOV_SHZ_B

1) Which of the following is the highest level of teaching?

foraifertia 3 3t @iel 311 ITaas Taz o g & 7

[Question ID = 1216][Question Description = $2_qSNz_PG_GP16_Q06]
1. Memoryfzaf@ [Option 1D = 4861]

2. Understanding /@ [Option ID = 4862]

3. Reflective/faasff [Option ID = 4863]

4, Thinking/fime [Option ID = 4864]

Carrect Answer :-
& Memory/zaiec [Option 1D = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

fapoial &t forafafRaa 3 31 oiar = Rrfgeare 3 7

A. werwt ait e 3 awcdt Fadgm

B. g wonfdrenfores afyadar

C. siraenws w9 A afvaag

D. mfdes eftcasior & R waan

E. wawsr agsl @ me sl av afPre sma Sonr

il R 1w Rroseal 3 3 78w o awer S :

[Question ID = 1217][Question Description = 52_qSNz_PG_GP16_Q07]

1. A and B only/@em A &fiz B [Option 1D = 4865]

2. A, Band C only/gam A, B 3fis C [Option ID = 4866]
3. A, B and D only/daa A, B 3fiz D [Option D = 4867
4. A, B and E only/dsaa A, B aiiz E [Option 1D = 4868]

Correct Answer :-
& Aand B only/@aa A sz B [Option 1D = 48685]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

forratciRaa A | ia 3 e o Ta3 gyl o § 7
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A. wrverd oifer

B. afsrzon

C. afhigrarar

D. afirsta

E. siiffrs gitrems

ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 1218][Question Description = 52_qSNz_PG_GP16_Q08]

1. A, Band C only/gmm A, B 3fiz C [Option [D = 4869]
2. B, Cand Donly/gam B, C 3iiz D [Option 1D = 4870]
3. C,Dand E only/ssam C, D &fis E [Option ID = 4871]
4. A, B and E only/@aa A, B dfic E [Option ID = 4872]

Carrect Answer :-
# A B and C onlyfa@am A, B sfiz C [Option 1D = 4869]

4) Match List 1 with List 1l

List | List Il

Institutions Offering Courses Through SWAYAM |Level of Education

A. NCERT I. Post school education

B. IGNOU Il. Undergraduate education
C. CEC lll. Postgraduate education
D. UGC V. School Education

Choose the correct answer from the options given below:

I -1 B gt -1l A Ao B

it - et -l

(i & s A uigRIa Halm el ardl dvend ) (Rrzmr @1 7a)

A, wot 2t £ ame & |I.mg{-mf§mr
B. s9q1 |Il.ammﬁraﬂ
C.3 M 11, Temamras figm
D. g it |IV. et foren

oftdr v oo Rroseal & A =8 saw gfee ¢
[Question ID = 1219][Question Description = $2_qSNz_PG_GP16_Q09]

A-IV,B-1,C-Ill,D- 1l [Option ID = 4873]
A-1V,B-1Il,C-1,D - Il [Option ID = 4874]
A-1¥,B-1,C-Il,D- Il [Option ID = 4875]
A-1¥,B-1I,C-lll, D- I [Option ID = 4876]

T e

Correct Answer :-
o A-IV,B-1,C-1I,0D-Il[Option ID = 4873]

5) In a learner-centric approach, a teacher should:

sifferrdal - SRa sasm & Riews ot -

[Question ID = 1220][Question Description = $2_qSNz_PG_GP16_Q10]

clarify concepts by citing examples/ s gap o3 sRuRumE 3w wren wmize [Option (D = 4877]

facilitate student learning/ory © sffeE ot smena wemen mize [Option ID = 4878]

explain concepts by using adequate support materials/ oy FEres AEll o IER TP smaonsi 5t = Bl aiar [Option 1D = 4879]

R

6) Independent verification of a research effort is known as

Ro=ft ofter grIm @1 Fadg JcITE IR oIl & 7

[Question ID = 1221][Question Description = $2_qSNz_PG_GP16_Q11]
1. Enguiry/wemt [Option 1D = 4881]

2. Probe/=mam [Option ID = 4882]

3. Replication/gamf [Option ID = 4883]

4, |nvestigation/swamm [Option 1D = 4884)

Correct Answer ;-
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# Enquiry/geer [Option ID = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. lIdentified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forsafert¥ne 3 31 wior 3 mareats ofter &Y Rrdram & 7

A. gest g 81 §

B. sfifsiertya a3t w1 v Re=m s 3

C. J'aT AebREe gl &

D. afe giieet @1 sarpr ast 8, d orerdl @1 sns A apns=eor R so axean 3
E. AMgal 17 TR W3al Wiod ok &

i) f8u a1e Rrpeul 9 A w16l S0e @l o=s ifans :

[Question ID = 1222][Question Description = 52_qSNz_PG_GP16_Q12]

A, Band C only/omm A, B 3fiz C [Option [D = 4885]
B, C and D only/zwm B, C 3fiz D [Option ID = 4886]
C, D and E only/dam C, D & E [Option ID = 4887]
A, C and E only/dam A, C 3 E [Option |D = 4888)

R

Carrect Answer :-
® A BandC only/dam A, B dfiz C [Option ID = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement Il: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

oIl 5 werel [Rw #1w 3 ¢

wad - | 1 sRer onerpal Brere - Bofar & &

wad - || : ke sher - se sier 3 Riftioo sicicell o sier enerpalali & e av sisaa sudst o 8
FRITD UGl D FIKD #, ikl feu o1 RKicoodl d A 1381 e @1 @~ Sl

[Question ID = 1223][Question Description = $2_q5Nz_PG_GP16_Q13]

Both Staterment | and Statement [ are correct/wem | Az || Si=t =8t & [Option ID = 4889)

Both Statement | and Statement [ are incorrect/wem | A || Sist arewr & [Option D = 4890]

Statement | is correct but Statement Il is incorrect/wemr | 1t &, feg wem |l srmr & [Option ID = 4891]
Statement | is incorrect but Statement [l is correct/wem | oo &, feeg e || =8t £ [Option 1D = 4892]

bt B

Correct Answer :-
@ Both Statement | and Statement [l are correct /e | 3z || Sl =2t € [Option 1D = 4889

9) According to Wimmer and Dominick, the sequential steps in content analysis are:
A. Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

faerz 3fiz S & agee faaerasg farvcvaur o ocfoliaa aevil o ad oa 3 751
A, wafte o1 afrsnite oz
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B. 3fta ofdeel @1 e avsan

C. Rrdqgor &t oo 3iiv gfordl &t vivaen &t asaer oo

D. seliga D3l @l Trag Wil [rauvl wen 30t s forpicen

E. olterpal grr onler ussl = ulroasinaii w1 o wion

i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :

[Question ID = 1224][Question Description = 52_qSNz_PG_GP16_Q14]

1. A, B, C, D, E [Option ID = 4893]
2. B, C, D, E, A[Option ID = 4894]
3. C, D, E, A, B [Option D = 4895]
4. E, A, B, C, D [Option ID = 48%6]

Carrect Answer :-
s A B, C, D, E[Option D = 4893]

10) Match List | with List I

List | IList 1

Ethical concepts IScurce

A. Categorical imperatives |I. Aristotle

B. Utilitarianism |II. John Rawl

C. Golden mean |III. Immanuel Kant
D. Theory of justice |IV. John Stuart Mill|

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 AR iR

ot -l et -1
(siféres arrenzomTg) |(=e)

A. forzlier amdar |I. AT,

B. swRiRBIIEaE 1. siior e

C. vavf amer ., sdggarer wic
D. wart w1 Rigin IV. sifer sgar€ B

oitdr e oo Rroseal & A1 5t sae gfee ¢
[Question ID = 1225][Question Description = $2_qSNz_PG_GP16_Q15]

1. A-1,B-Il,C-1ll, D- IV [Option ID = 4897]
2. A-I1L,B-1I, C- 1Y, D- I [Option ID = 4898]
3. A-UL,B-1¥V, C-1,D- Il [Option ID = 4899]
4, A-IV,B-1, C- 1, D- 1l [Option ID = 4900]
Correct Answer :-

o A-1,B-Il,C-1ll, D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:

HAcaelts AT #, ara DA erT 8 ?
[Question ID = 1226][Question Description = $2_q5Nz_PG_GP16_Q16]

1. Independent/=wig [Option ID = 4901]

2. Inter-dependent/uzzaz fniz [Option ID = 4902]
3. Meutral/re=a [Option 1D = 4303]

4, |nactive/fftaz [Option 1D = 4504)]

Correct Answer :-

& |ndependent/=rry [Option 1D = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:
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fomgmfertian 3f 31 o arenfecm HYWVT DI Yyfar waar & ?
A, FiddY o ufisz
B. arzeu farzimia
C. sivepfa
D. siehferes smafrefa
E. michifear
ol 2w s1¢ feraseal 3 3 I3l InT &1 wRIal Hifae
[Question ID = 1227][Question Description = $2_qSNz_PG_GP16_Q17]

A, B and C only /e A, B 3z C [Option ID = 4905]
B, C and D only/dae B, C 3z D [Option ID = 4906]
C, D and E only/=%@= C, D &m E [Option ID = 4907]
A, D and E only/=%@= A, D iz E [Option (D = 4908]

o R

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 4905]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

oA <) oewl Ru s & ;. wes afirsera (Assertion A) @ wu 3 3iiz g1 35 @rer (Reason R) & »a &
afdreserer (A) ; FOuoT 3 FHSI 3z Jord arelf @1 sierzor 3tz Qrer sraea Afiafera Son aifaw

@rzor (R) : ufigel W @1 d87 YA ©ell U® bolldt HHIRKR &

I wuell aF sralr 3, of Ry Bravedal # 3 wdt saz o auer Hifsie -

[Question ID = 1228][Question Description = $2_qSNz_PG_GP16_Q18]

Both A and R are true and R is the correct explanation of A/(A)} 3z (R) St it & 3tz (R), (A) ot 2t =mz=n & [Option D = 4909]

Both A and R are true but R is NOT the correct explanation of Af(A) ditz (R) Stell 7t & uewg (R}, (A) &t 78 saremn widt 2 [Option 1D = 4910]
A is true but R is false/ (A} 76t & womgy (R) =t =t & [Option ID = 4911]

A is false but R is true/(A) =2t st 8 weogg (R) =€t € [Option ID = 4912]

oW R

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/ (4) sz (R) St =6 £ sfiz (R), (A) ot 7t =me=n 2 [Option 1D = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A, Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below

jifeew wd afea @ Al FAYWYT Gl B TE o T § 7

A, Rriqer

B. afirzon

C. sraras sficaks

D. Sorsrdt

sl 2w s1¢ faaseal 3 2 3l 30z o1 oRIal Hifaw

[Question ID = 1229][Question Description = $2_qSNz_PG_GP16_Q19]

B, C, D, A [Option ID = 4913]
D, A, C, B [Option ID = 4914]
C, D, B, A [Option ID = 4915]
A, B, C, D [Option ID = 4916]

bl D

Correct Answer :-
e B, C,D, A[Option ID = 4%13)
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15) Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

forzaifertiae 3f 2t @iat 31 FawH FHWoT O cigron 3 ?

A, I

B. o snorasdt &t sguefierr

C. @ fagan @¥or 3 Uad Iud an & Aeen

D. gy gana ol $av6l d Faaes A8 dgall

E. are - urzt & #gE1 & gfa faftaga saon

olfer 6w s1e fampeal 3 3 71él Iz &1 aas Hifag ¢

[Question ID = 1230][Question Description = $2_qSNz_PG_GP16_Q20]

1. A, B and C only/dxze A, B 3z C [Option D = 4917]
2. B, Cand D only/dxze B, € 3z D [Option ID = 4918]
3. C, D and E only/dxze €, D 3z E [Option ID = 4919]
4. A, Dand E only/@we A, D afiz E [Option 1D = 4920]

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 4917

16) What comes next in this sequence?

1,2, 2,4, 8, 32,7

i 2w a1% aiermH 3 aercdl Fien Sia 3 2l ?
1,2, 2, 4,8, 32,7
[Question ID = 1231][Question Description = S2_qSNz_PG_GP16_Q21]

1. 84/84 [Option ID = 4921]
2. 64/64 [Option ID = 4922]

3. 1287128 [Option ID = 4923]

4. 256/256 [Option ID = 4924]

Correct Answer :-
e 84/84 [Option ID = 4921]

17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

#fe A i Reft woere o 30 o1 d aon o 8, sl kbl @ 33 awm @t dorrel # Roae o o@is), qurd &5 4 it 30w &= 3 ot
SHIE ?

[Question ID = 1232][Question Description = S2_qSNz_PG_GP16_Q22]

1. 100 days/100 = [Option ID = 4925]

2. 70 days/70 fer [Option 1D = 4926]

3. 30 days/30 &= [Option ID = 4927]
4, 210 days/210 &= [Option ID = 4928]

Correct Answer :-
e 100 days/100 &= [Option ID = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

afe Roeft sererer vz 20% &6t o3 3 3 od @ Rm arpgly warer sfiv st w2 @t 3w 64 =!8, A a8 Jeee SR O
[Question ID = 1233][Question Description = 52_qSNz_PG_GP16_0Q23]
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Rs 495/% 495 [Option D = 4929]
Rs 550/ 550 [Option [D = 4930]
Rs 375/% 375 [Option ID = 4931]
Rs 500/% 500 [Option 1D = 4932]

oW

Correct Answer :-
e Rs 495/% 495 [Option ID = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement |l: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 213 minutes past 4.

In light of the above statements, choose the correct answer from the options given below

oI g el fow s §

werd - | @ afe ast 3 aam: 20 Reie o1 s goildl 2 i sardt @i &b g iz fieic &t g & dla 25° o1 olvl gem 2
et - 1l @ 4 3z 5 @ 4k 4 worse 213%@&@@&%@&%&%@&%%31&&%

11
IURE el @ el #, oflY & a1e fameeul # 3 7t 30z @1 oo &ifem

[Question ID = 1234][Question Description = $2_qSNz_PG_GP16_Q24]

1. Both 5tatement | and Statement |l are true/oem | J2 || 8@t @ & [Option D = 4933]

2. Both 5Statement | and Statement |l are false/mem | 37 || 3w e & [Option |D = 4934]

3. Statement | is true but Statement Il is false/wemr | 3 & |, freg wem (s 2 [Option 1D = 4935]
4, Statement | is false but Statement Il is true/@em | a1 7w &, Roog em || zwa & [Option 1D = 4936]

Correct Answer :-
e Both Statement | and Statement |l are true/wem | #iz |l S I= £ [Option D = 4933]

20) Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2.
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

forrafertian werel uz fans Hifsm ;

A, af? feoedt ag o T Fea 56 uA B sl 33 uz 20% o B 8, Al 3w g o Ao #gea 76.2 U @
B. af® =t avg &1 @@ e 80 Hu 2 afiz 331 gl uz 15% aifer 2kt 3, &t 371 awg o1 faaa 3 68 a3
C. afe ool azg o1 5 s 3# wmiows 6 Fod F dar suar B A 3w oz 25% o B 3

saf A A oo m / A vua Aast 8/ 37

[Question ID = 1235][Question Description = $2_qSNz_PG_GP16_Q25]

1. Conly/daea C [Option [D = 4937]
2. Bonly/@ae B [Option ID = 4938]
3. Band C only/@ae B &tz C [Option ID = 4939]
4. A and B only/aaa A dfiz B [Opticn 1D = 4940]

Correct Answer :-
o C only/awa C [Option D = 4937]

21) Match List | with List I

List | IList 1
A. Vyapti |I. An immediate valid cognition of reality due to some Kind of sense-object contact
B. Anumana |II. A source of knowledge on the basis of the likeness of things

C. Pratyakshallll. Knowledge of an object due to previous knowledge of some sign or mark
D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

TRt -1 @ et -1l A ARE Hif
et -l R -l
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A : | Rt geors @ sidcenel afoerasd @ weor wemnel w1 arwrr Ser
- +

B [ll, <hisii 6 Tz &5 ATens a3 Siel o IJIa

3o HIol

C. graat |l Rl idva o Ris @ qd star @ anenv o3 feeh avg o o6

D. sasa |Iv.wéaguﬁaﬁimauﬁﬁﬂamﬁﬂﬁmm
a1 o oo Repedl & 3 318l 302 giome :

[Question ID = 1236][Question Description = 52_qSNz_PG_GP16_Q26]

1, A-1,B- 1V, C-1ll,D- 1l [Option ID = 4941)
2. A-1,B-1l,C-1,D- IV [Option ID = 4942]
3. A-Il,B-1I,C-1,D- IV [Option ID = 4043]
4, A-I¥,B-1ll, C-1,D -l [Option ID = 4944]

Carrect Answer :-
o A-|,B-I¥,C-Ill, D- Il [Option 1D = 4941]

22) Match List | with List 1]

List | List Il
A, Sannidhil, Mutual fitness and compatibility of the constituent words in a sentence

B. Tatparyall. Expectancy between the words different in a sentences
C. Yogyata |lll, Propinquity between the different words in a sentence
D. Akanks3|lV. Meaning intended by the sentence

Choose the correct answer from the options given below:

A -1 ot e -1l 3 pafera SHifer

et -l i -l

A. afcatts || amae 3 Fiace sl &l uruli® Fugral Az dAewian
B. aread |Il.mzrﬁ9r@fﬁ$mﬁqﬁn9n

C. I |Ill.mﬂi%{fi|aa9m€f$aﬁﬁxmﬂm

D. arwign ||V, arr g afia aref
i RRu s1e faeseal 3 31 7él 3= gfome .

[Question ID = 1237][Question Description = $2_q5Nz_PG_GP16_Q27]

1. A-1l, B-1,C-1ll, D -V [Option ID = 4945]
2. A-IV,B-1I,C-1ll, D- I [Option ID = 4946]
3. A-1,B-1,C-1V,D- Il [Option ID = 4947]
4. A-NI,B-1V, C-1,D- Il [Option ID = 4948]

Correct Answer :-
o A-I,B-1,C-Ill, D- IV [Option ID = 4945]

23) Mame the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.”

Choose the correct answer from the options given below

oifr e 31¢ aas 3 Tl Ao S 3 7

il T3 SAerE OIeiq Sloiz 8

¢ gforpiel urorg snorae wist §

st o ginsisl wi et sl §

[Question ID = 1238][Question Description = $2_qSNz_PG_GP16_Q28]

1. Undistributed Middle /ey &5 [Option 1D = 494%]

2. Affirmative conclusion from Megative Premises/a@Rns ARIF 9l 3 IErmrs Bred [Option 1D = 4950]
3. Exclusive fallacyfaogsts o g [Option ID = 4951]

4. Existential fallacy/aRBrmass a3 am [Option 1D = 4952]

Correct Answer :-
e Undistributed Middle/amms &7 [Option ID = 4949]

24) Consider 'A’ proposition as 'True’ and 'False' respectively, in a square of the opposition of propositions, then which one
of the following is correct?
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s aral @ Riodla oof 3 A’ aab arr @1 e HE ofi s aml fereetieiRaa A A @ior A1 bl @ 3 7

[Question ID = 1239][Question Description = 52_qSNz_PG_GP16_0Q29]
1. "0 is True and T is False/'0' gt g sz "' sewr & [Option ID = 4953]

2. 'Eis Undetermined and ‘0" is False/'E’ aforertiy £ afiz '0' s € [Option 1D = 4954]
3. 'O is Undetermined and "' is False/'0" aforiitst & afiz ' = 2 [Option 1D = 4955]

4. 1is True and 'E' is False/I' &t 23z 'E' swm & [Option ID = 4956]

Correct Answer ;-
o 'OisTrue and T is False/'O' ==t 4z T eewr £ [Option 1D = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

forraifertian 3f 2t fopmr SreT greu @ 3299 - fadRr Fide & zfte 3 avg @ o1 fafe ol &t aear & 7

[Question ID = 1240][Question Description = $2_qSNz_PG_GP16_Q30]

Nirvikalpaka Pratyaksha/feifmens et [Option 1D = 4957
Savikalpaka Pratyaksha/afrrewe yrgr [Option 1D = 4958]
Samanylaksana/Ameem [Option ID = 4959]
Yogaja/=ierm [Option 1D = 4960]

bl D

Correct Answer ;-
# HNirvikalpaka Pratyaksha/Biremr gemer [Option 1D = 4957]

26) A spreadsheet is

Fisofic & -

[Question ID = 1241][Question Description = $2_qSNz_PG_GP16_Q31]
One-dimensional table or grid/ues - fefta arcres ar B [Option 1D = 4961]
Two-dimensicnal table or grid /g - Fele mferet =r B [Option 1D = 4962]
Three-dimensional table or grid /&y - fofs afems @ B [Option 1D = 4963]
Four-dimensional table or grid/<xjz - Bl micrer @0 B [Option [D = 4964]

-

Correct Answer :-
® One-dimensional table or grid/ue - Fele mffwe =@ B [Option 1D = 4961]

27) In electronic banking, ATM stands for
Folci ol dltbal o e # § & B O G ofld a1 & 7

[Question ID = 1242][Question Description = $2_q5Nz_PG_GP16_Q32]
1. Automated Transfer Money/#i@@es ciaws A=

[Option ID = 4965]
2. Automated Teller Machine/slicies 2oz mler

[Option ID = 4966]
3. Automatic Transfer Machine /dichiR® css aoia

[Option ID = 4967]
4, Automatic Transfer Mode /AR goge s

[Option ID = 4968]

& Automated Transfer Money/diEWes ciares Aot
[Option ID = 4565]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

3T CId TSI &l gorell # Aucia wegee ol raikifiaa #d 31 oia At oo oMt & ?

[Question ID = 1243][Question Description = $2_qSNz_PG_GP16_Q33]
1. It has no trailing wires/sxi o A faeer =t T2 & [Option D = 4969]
2. It has lower power consumption/sxd sl & moa a2t 2 [Option ID = 4970]
3. It is lightweight and self-contained/ e oot @ 21 & 3l =5 7aa: idm & [Option D = 4971]
4. It is easier to break or steal/s3 dgen = gEn aRner &ar & [Option (1D = 4972]

Correct Answer ;-
® |t has no trailing wires/s ©F = Fmrc & 7za € [Option D = 4969]
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29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

foraifertiaa weEll @ smenz uz faanr Hifsmw ;

A, otz gl 3 9 FEl 1 JuleT foa Sk 8

B. Sic afeaw sl dovaie Ricd & faadia der Rl # grard= Az &30 TR =8 o 30 a1l fiean s 3
C. oz el 3 fore o fagm &1 fdraar/spn &1 gEeT e 2

D. o1z fifez arg & aiisilor 313 aiiz dlolr & IPEH BT 3rlool DHI 8

Ffes 3 2 ®lol 71 / A Bt AE E 7

[Question ID = 1244][Question Description = $2_q5Nz_PG_GP16_Q34]

1. A, B and D only/dxze A, B 3z D [Option D = 4973]
2. A, Cand D only/@ae A, C sfiz D [Option ID = 4974]

3. B, Cand D only/dxze B, € iz D [Option ID = 4975]

4, Aand C only/o5am A @iz C [Option 1D = 4976]

Correct Answer :-
o A, B and D only/@am A, B sfiz D [Option D = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement |I: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

il 1 Tow Ru smw 3 ;

averat - | 2 31 3w ¢ ow & sk g siiv Ay (Dab) afiaka 88 &
aserat - || 1 &Y ane v ol ot asnen 1Y@ orusvel & smaowsan Bt B

AT WAl O sreia #, i Ry a1 Rovedl # A wél saz o e G ¢

[Question ID = 1245][Question Description = $2_qSNz_PG_GP16_Q35]

1. Both Statement | and Statement Il are true/=em | iz |l Sl a0 & [Option D = 4977]

2. Both 5Statement | and Statement |l are false/mem | 3z || 3w e & [Option |0 = 4978]

3. Statement | is true but Statement Il is false/mee | 3ra & , foog wae || smrg & [Option 1D = 4979]
4. Statement | is false but Statement Il is true/®ue | sera 2 , Breg @ua || s/a & [Option 1D = 4980]

Correct Answer :-
e Both Statement | and Statement 1l are true/wem | #iz || S=if I= £ [Option D = 4977]

31) According to Niti Ayog's 5DG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?

oitfer ameller @ wastsh IErpir (2019 - 20) o5 aaR, gastsl - 5 (AlRrr Jemer) g o # esiftiRaa A 3 R w1 @1 ygyier adoss
27

[Question ID = 1246][Question Description = $2_qSNz_PG_GP16_Q36]
1. Kerala/@5ser [Option [D = 4981]

2. Himachal Pradesh/fgsmem g [Option 1D = 4982]

3. Sikkim /fifams [Option D = 4983]
4. Goa/sitar [Option ID = 4984]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following SDGs

Atfoczrer grcrasiar 3 & s1¢ afvwoasn @ serae audstel Riftsyer A sivem feaftfloa 3 3 Roa va 3§ Sh 3 1 wewce o 3 7
[Question ID = 1247][Question Description = $2_qSNz_PG_GP16_Q37]
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SDGS 3, 11, 14, 15/uwa ol 3, 11, 14, 15 [Option ID = 4985]
SDGs 10, 16, 17/t= < 5ft 10, 16, 17 [Option 1D = 4986]

SDGs 4, 5, 11, 17/za @ 5t 4, 5, 11, 17 [Option ID = 4987]

SDGs 8, 10, 12/w et 5it 8, 10, 12 [Option ID = 4988]

N S PO L ey

Correct Answer :-
e SDGS 3, 11, 14, 15/ it 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

fare 3 Froord B o walt ganfernd & 3 siza A oene Rvash genfeat 37

[Question ID = 1248][Question Description = S2_qSNz_PG_GP16_Q38]
1. 7-8%/7-8% [Option D = 4989]

2. 10-12%/710-12% [Option 1D = 49%0]

3. 15-18%/15-18% [Option 1D = 43%1]

4. 20-25%/20-25% [Option ID = 4992]

Correct Answer :-

o 7-8%/7-8% [Option D = 4989]

34) In respect of Biochemical Oxygen Demand {(BOD), the permissible Indian standard for discharge of treated effluents in
Inland Surface Waters is

SR Aiasdiara #ier (4t sy 31) @ Haer 3, o2 al:ama @t st aadl sa | sisa @ e ik ass a7

[Question ID = 1249][Question Description = $2_q5Nz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 fep/

[Option ID = 4593)
2. 6.0 mg/L/6.0 B/ =t

[Option ID = 4994]
3. 15.0 mg/L/15.0 fep/ <.

[Option ID = 4595]
4, 30,0 mg/L/30.0 R/ =it

[Option ID = 4996]
Correct Answer :-
e 5.0 mg/L/5.0 Bep/ oft

[Option ID = 4993]

35) Which type of power plants uses the least land per unit of GWh energy production?

fepa qoor @ fagga i givn so1s sitenarc der (S0 socg va) Seif sruica @ i il s 9 o IURlel &=l & ?

[Question ID = 1250][Question Description = $2_q5Nz_PG_GP16_Q40]
1. Wind/uza [Option ID = 4997]

2. Coal/@ren [Option ID = 4998]

3. Solar/=iz [Option ID = 4999]

4, Geothermal/spmdtr [Option 1D = 5000]

Correct Answer :-
® Wind/mwmm [Option ID = 4997]

36) Which of the following are the major recommendations of the NEP-2020 related to higher education?
A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education

D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

ga § ot - 2020 Ji 3 Bien @ sy # BeatfRaa 3 3 ofia =1 ggs e &7
A. siae @ 26.3% 31 agres 2035 mos 50% o
B. A - seriter Rreatfenrord @t Femaen
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€. =g bign @ e wira Rfsrmme Her 'soot f5g ool (arET ac ose)’ Rifcere
D. fyswor iz gienfSrdht A ofter @t agrar Jair

E. 1500 sfiz iraliEnor= wiaen

offal fom =1e Repedl 3 3 181 I @1 wRm i @

[Question ID = 1251][Question Description = 52_qSNz_PG_GP16_0Q41]

1. Aand B only/asm A & B [Option 1D = 5001]
2. Aand C only/@aer A diz C [Option ID = 5002]
3. Band D only/@eer B 4z D [Option ID = 5003]
4. D and E only/&aer D #fiz E [Option ID = 5004]

Carrect Answer :-
® A and B only/@aa A sfiz B [Optien 1D = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses,

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

oi) € era 2w s & ¢ wen arfdrperar (Assertion A) @ wu 3 sz g7 suas @t (Reason R) & =a 3

afdreserat (A) ; Rign quireht 3 exftciuer &t Aier o eamor # TEd g famed - anenfa & f5eyone (1 & 2f vzr) @t saern 2 mifes o agel!
sifSrsfra 3l S2evl & sotan 3iae - Rrawuw, srafirerrs i wiora snenfya aigragAl ©f ags ©F A

wrzor (R) s # aiffrosior goa frgn Hwemnd sty wn gitrera suenfya soaiome qonedl @ sroparerer e 25 3 Rradt oigl o) srael g @ gl
/ dzersdi @ dim gadb! siivelicrn & oficdaa 3 aren et

IURE el & AICD A, s By fawodl # 3 3 saz o1 o Hifere
[Question ID = 1252][Question Description = $2_q5Nz_PG_GP16_Q42]

1. Both A and R are correct and R is the correct explanation of A/{A) sfiz (R) Sl 2 & ofiz (R), (A) &t =2 =oeen € [Option ID = 5005]

2. Both A and R are correct but R is MOT the correct explanation of A/ (4) diz (R) Sl 75 £ weeg (R), (A) Ot =&t e st € [Option 1D = 5006]
3. Ais correct but R is not correct/(A) 3t 2 momg (R) st =ff & [Option 1D = 5007]

4, Aisnot correct but R is correct/(A) st =f 3 wesry (R) =8t £ [Option 1D = 5008]

Correct Answer :-
&« Both A and R are correct and R is the correct explanation of A/ (A) siiz (R) St=il 28t & sliz (R), (A) & 28 momz=n 2 [Option ID = 5005]

38) Nalanda was established in
oltcicl ol Feuel od g3 &l ?

[Question ID = 1253][Question Description = $2_q5Nz_PG_GP16_Q43]
2nd century/ gzt grmec [Option 1D = 5009]

3rd century /et grsdt [Option 1D = 5010]

4t century/etelt ormedt [Option (D = 5011]

5t century/aert ermeet [Option 1D = 5012]

N PP S g

Correct Answer ;-
o 2" century/gast srmt [Option ID = 5009]

39) Arrange the following states in descending order in terms of GER {Gross Enrollment Ratio) in higher education.
A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

o foranr 3 wova awiwer separa (5 § 3n9) Ot efte F Rroftrfan wrsai ot s ayn 3 2
A. mifderons
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B. @

C. FaarEms

D. Riikra

E. Ramme geor

i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :

[Question ID = 1254][Question Description = 52_qSNz_PG_GP16_0Q44]

1. A, B, D, E, C [Option ID = 5013]
2. B, A, D, C, E [Option ID = 5014]
3. B, D, E, A, C [Option ID = 5015]
4. D, A, E, C, B [Option ID = 5016]

Carrect Answer :-
s A B, D, E, C[Option D = 5013]

40) 'Deemed to be University is established by

'Ites Rraftenoa’ 6 Fearaon foad g & st 8 ?

[Question ID = 1255][Question Description = 52_qSNz_PG_GP16_0Q45]

1. An act of the Parliament/d=s @ gidfre g [Option 1D = 5017]

2. An act of the state legislative assembly/ 3/ R mar @ aiffeer g [Option 1D = 5018]

3. A notification of the Central Government on advice of the UG /g4t =t & amm w sy mvor & sftegem g [Option 1D = 5019)
4, A notification of the UGC on the advice of the State Government/ = sz &t ame w =t =t 6 aféeen grer [Option (D = 5020]

Correct Answer :-

& An act of the Parliament/zae @ aftfeeer g [Option 1D = 5017]

Topic:- GP_24NOV_5H2_C

1) Please read the passage and answer the following questions,

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job,
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emoticnal
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissenance concerns
feelings rather than thinking, It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

fBrrmterf3ae stexior @) taegde ag iz gual @ sav S

HIARHS 9 Bt arxenzorr Aar S D AsrETE @ yeweer A ol Rreg sracAT 9 eEpET Qe AseR & fore gruafics 3§ smaot geercs
1T 3 B A A AL AULT THWI & Kb ama suel el & A B waer ®8 it Riguynt asr o o a=dl gelidl aa scuso gidl € s
wafenfra @t fopeft siaen o1 gehfa owon usa & 9afs O S1E gadl saon #EgA o 1 A0 2 A faseilr waenenes farisif weardt 2 iz ae
TR B T sifororee 8t ol 3 wor, @ler 3z 3w &t ava smen A I HIGEIRD ¢RETA ikl § 3 salip MR FU A o 5IRTT 3
Widelcas i sismenas st & e 2, Bram sod o6 snaenrass fsisiia Rivor &5 oo siraeid 3t A4t 2l 8 qurdt Rt
fBroarger 45 o guE G @ $a A HRIGICHT o # smaensil B grefar o1 Fwwr s § sreioacs o walaifyel @ R gRer sraser
I &  AMIh] B il @5 ATel B HIdl USdl 2 oled 3nu [eerpa ueic oél ol & 2l 3<hel 8, MU Jokb oftbrd o uadd] dAerd 81 &l
A 2 6 ama A s 8 796 3ogier aud dio i anuds an 3 R ard oAl & T9d amagg, AUl Asenz &t IR ] so el &
A1 forfd stz uz sl @eelt ast & swftie amusst Frjitvr @1 wmar o usar @ fidmrns, Aie ama wraosi @l sy Sesiai an
g sraotrsil 3 srcreT-a1creT e W dl FHI AUDY el Ao H Aerr fiel il 2 sepm sk safo 6 aralds sraend kil F
sad Rrafa, golbia sraand § 8kt 3 Bred o1 doroa el wrd Ridg o fore welafe srer gl Rew soar 6 srdan ysran & 3iie 363 s
#All & 4 AafiRa waed «dl 2l & 5 A il o1 s 2cdl 2 330 g1z s 3 A altrntor et sera E 5 s Rl sals © sifta
v # gw goidia wwet & aden &t sl 3, 3@ & 50 va safe 6 gog O oo st et ar o1 sk asn end-Anrs 3 gacea R 6
e @t Swdt 8, wcl 8 & Yookl eI W AT of e 9ilel g gorla & B wrl Fae uv ug siian @t siwedt & R 53 s gRieoin 3w
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The basic principle of emotional labour management is:

HIAGIITHS 9 gaerst o1 gfornd Rigia 3 :

[Question ID = 1256][Question Description = $2_qSNz_PG_GP16_Q46]

1. Be less hostile to other emplovees/ s aetmiisl & gift e Riga zzmm [Option 1D = 5021)

2. Entertain only limited interaction within the organization/ssmom oF slierz W lifwT sirefizn ween [Option (D = 5022]
3. Be polite to co-workers/amob o gfft feey 25 [Option 1D = 5023]
4. Do not show your frustrations/ aigsll ol @1 gglefa @ own [Option 1D = 5024)

Correct Answer :-

# Be less hostile to other employees/ s sefenfs=l & gy o3 fidw ==yan [Option 1D = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissenance concerns
feelings rather than thinking, It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

forraferi¥aa staxior @ tanargdes @ 3 geal @ e §

HIACHS 9 Bt araenzorr Aar S D Ao @ yewreer A cult B Rveg sracAc o eEnET Qedo Aser & fore grufics 3 smaot geercs
ATa 3 A A A AL AULT THWI & K ama suel el & A B saer ®f it Riguynt asre o o a<dl gelidl aq scuso gidt € s
avsfenfyall il et siraen @1 gofdia weon usar § afds & o1 call swaar #EgA ©F B A0 3 as el umenraw Reieker weared 3 iz o
Fared @ e sibrorw & FToxd E wor, @i sfiz A Bl o yme A T HERIKIRD R okl 3 3z Ils MeIReEs S A T SR &
WidelcH i sismencas st & e 2, Bram o fop sraerass il Rivor & oo siiaeii 3t ddftn 2t 8 qurdt Rt
fBroaer 45 oo guiEr G @5 FU A HRIGICHE o # sl B greifar w1 wwmr s 3 sreoas 9 walaifl @ R gRen sraser
DI E  AUDh] BA cllell & T BIA $ell USdl & Bied U ferpa Uzic offl Tx1 & 2l Wbl 3, AU Joid odftbrd oI Azl el 81 &l
Fwen 3 By ana o srea 8t By sosier s dic Y anad e 3 orvracwe wid of ¥ sad aragg, od Asenz B il snawt se dEil ©
A1 forld stz uz i wwelt ast & swftie amusst Frjita @1 owmmar o usar @ fidmrns, i ama wraoisil @l iy Sesiai an
g sraoIrsil 3 srcreT-a1creT Bt W dl FHA AUDT el AeN H AerR fiel il 2 s daan safko 6 aralds sraend kil E
sad Rradla, goldia siaond 4 it € Bisd oI derom ol ord Rida @ e wakafei orer gefdia R snar 61 smdan sz 3 3w 363 s
ALH & 4 sicfolida wiaend w1l 2iedl 3 ; q 2ildl o8 shed 2kt 2 320 yor za # 31 af2roivr ol sied 8 ko sael [ezdl calts © sifca
FFwr # gwm yofdia weet & e &t sedl 3, s & 50 31 safs 6 gog o) oo sty Wt ar o1 sk asn end-AnEs 3 gaca Reer 6
e @t SIRdt 8, wcl 8 & Yookl ASI W A1 of e 9ilel g gorla & B wrl Faw uv ug siian @t siwdt & R 53 st gRieoe 3R
3CHIE i3 ARG WAl oI yelbia smron anfde aem e, @, sl ofiz aadirer St oieRedne sral D cfivT oo mifze

Within an organization, emotional dissonance affects
fepzft dooa # waencare femisti fipar yanforT ot 8 ?

[Question ID = 1257][Question Description = $2_q5Nz_PG_GP16_Q47]
1. Cognitive consonance/Sseicas agzam [Option ID = 5025]

2. Effective job performance /gardt @t Bemea [Option 1D = 5026]

3. Solutions to labour issues/gp & =1 2Pmm= [Option 1D = 5027]

4. Constructive thinking/zemrns Rive [Option 1D = 502 8]

Correct Answer :-
e Copgnitive consonance/ HEeEmram aama [Option 1D = 5025]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
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At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another, This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive, Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. 50 you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual’s actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

Rraftifiaa s ot tamgede ug sfiz geal © 3 §

WD 9 i AREIRVIT I 25 <& USEIR] W HERIel A 338 & Roog sIaraes 9P oPnEl g A6rR o e grilfer @ amusa geatrs
AT 3 A 2 DA T8 AAET TdT 2 5 ama ager Hemhifil & Arer Rise =aanr o1 iz Agugu omaer o o #wd gelidl aa 3case axdl & aa
avafenfyall @t fpeht siraen @t gofdia weon usar § wafds & o1 call swaar asgA @ B A0 3 as el umenraw Reieker weened 3 30z o
Fazea @ foe siforene 81 wodl @ @01, @i it 3w & oz aaer A AT HIAEcHT KBTI gl E A cafts aaeanae BU A g AR §
Widelch sl sismencaes st & e 2, Bram sad fop snaerass sl Rivor &5 oo siaeri 31 A4t 2 8 qurdt ort
Rrures @ v yg g @ FU d e 9 # aaeinii B grRirear o JeiE S 8 ReInaRs 9 il @ fore giten sruea
DHNE  AUD TH ARl &5 W1 D TNl Usdl 2 [ied s foraga uzic ol @3 8 8 Jodl &, aa Joid> odftoed ©f el A 8 8
Fwen 3 By ana 4 srea 8t By sosiar s dic Y anod i 3 orrracae wid ot ¥ sad aragg, sod Asenz B il snawt se e ©
A1 Toridieg eIz Uz sid:idoen weolt usdl 2 seifere anussl dAdisna o1 ewamr o usar & [vedsz, ale sma warasnsil o1 Mopafed HIasiisil Aar
gofdia siraersit 3 sreet-sroet o w1 Al 399 saat saa Asenr # asram B aodt B sopm saend wals & aralie sramd xdt ¥
s foadia, geldia soaend 4 gl & Bied ©IE Fie1o6 [l orl gy @ i welil o yshia Ree smer & srign swaean 2 il 368 aftm
HloTell 2 o sfatcliger waond gl 2kt  ; o M=t o1 wraemd 2kl 2 =i ootz & 3 31 siftrasier &el Sieral 2 b eae fopelt cafep o aifear
Frwr # g goldia oot & siden &t sl 3, 3 & 50 va wfe 6 gog o) ow sifer Wt ar o sk asn end-wAaes 3 gaca Reer 6
e bl wIRd 2, sict 8 & Yool A& @ Al A e 9iiel Ag golld 2 s orl Ferdl uz s aman & siwdl 2 e zd s Yool iz
Ieas S AwRens il o1 gofdia wren wifde aenr we, e, s i sraene SiA sipracad snal ot ofia avsenr e

In a workplace environment, labour managers should give preference to:

DRI Ferel @ anroT 3 o Ydire! ot forsatfafiaa # 3 fp2t grefirsar Soft anf2e ?

[Question ID = 1258][Question Description = S2_qSNz_PG_GP16_Q48]
1. Displayed emotions/gaiafr smrenaii @t [Option 1D = 5029)

2. Felt emotions/ g sl =1 [Option |D = 5030]

3. Negative emotions/mmrsts saenall o [Option 1D = 5031]

4. Expressions of frustrations/seral & affiefies &1 [Option 1D = 5032]

Correct Answer ;-
o [Displayed emotions/qgiia sraemadli @1 [Option 1D = 5029]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees

DEhl;mrtnw'.mstmta[ I.'~|uml::ra»rllfffl 49 Total Number IM—'*Ratm
F F
IT 250 1 |1 [240 2z |1
Accounts 123 2 |1 130 3 |2
HR 90 3 |12 |30 2 |1
Marketing (350 5 |2 |343 5 |2
Production [304 l5 |3 [351 5
forraferdaa staxior @ tarargdes g 3z geal @ e

HECHE 95 Bl sraenvon A S o AsrerA @ tIrrer A ud B Rveq snaenes o TEIET QR ASeR © fore g ¥ anawt gy
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3T A oA A oA ws Aagn w3 R sma st wewhifhl © mre R wrasi w0 i Rgage] woer o wd wd gelidt aa seaser St B o
wantEil o) et siraen o ygibia wen usar £ Jafs a o cadl siaen #izyA o R e A s wasarsas e oeakdt E 4k ag
Farea @ e sifirrw 8 mod 3 wor, anern diz g $t aww snaen A siad: siaena ernE 3l § A valts snasicww Fa A oo s 3
HIAGIIRT eI dsmecan fordetl & aama 8, RBrar sad [Bp smaorans Rseiar e < aamrr simaeni 3t d«afing andt 2 gud! ort
foroutger @ v gapa ae D BU # WAGIAD 95 3 Wil &l grifbal o JaE SR § Wieloiics 91 dafanf¥l o fore gfaen Iouoet
W E D] B TR @Y W W el asal & Bied s Berps ot aiff w8 e B, sma Sor waftoea o) sraedf ;e B &
Fmar & Tp s u1g Sl 2 e 3egial aad dis WS o an A aroRrae anl ©ft 2 59 aIa9g, A6 AR O |IRE Auw! sa dell B
arer forafdrer amens uz sy ool aslt 3 saftre snaoet b wr Rarar avsan asen 3 RAdrawy, afS sira siraansil o) siasa sraensi an
yeidia sraeiil d aceT-aeet @ AW Al FIRT AUDGI el AsPIR 3 Aerad B wadt £ el siaoms waflie @l arafie see sl 8
s frasta, gelfa saes A At ¥ Riod B dieroor et orf fad & fore asfafl zr gelifa Ree sme) Bt siden s 2 ity 3ok s
AR & A siafelida wrae widt St ;I il o snaed 2kt 33l geor 5o A A aif¥reion el st € Re s Reedl safts @ siftmr
FTmr | g Ypiia o & arien & Al 8, st & 591 79 cafic d geg o v 21 wel w1 | Je e ond-weRiE @ Ywow Raer &
3rderr &t siefl B, »8 & s guIcoren WA ¥ ar o ¥ oiter U coid B 5 wrl yel uv s aden & siedl B 5 59 nmreaa: gersoran Ay
ITHIE S IRDREIT WAl T Yeldia wvon wnigw aen s/, @ier, 2 3 saars ST sioRIcars siEl o1 sid wean aiifu

Which of the following feelings one should feign at a workplace?
A, Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

Rl Ferer uv Rt valRs @i Boaitifaa 3 A oier i sieaonsii o Renar wseen oifde ?
A. srr
B. sears

€. sreanst

D. gavear

il R 1w Rraseal 3 3 78 we oai @

[Question ID = 1259][Question Description = $2_qSNz_PG_GP16_Q49]

1. Aand B only/aaa A &is B [Option ID = 5033]

2. Band C only/@aer B 4z C [Option ID = 5034]
3. Cand D only/asae C 3fiz D [Option D = 5035]
4. B and D only/<we B &z O [Option ID = 5036]
Correct Answer :-

o A and B only/aaa A sfiz B [Option 1D = 5033]

5) According to the passage, effective emotional labour management involves :

Irerion @ rofAie, QUKD seTvaw 9 gEeiar # aar wldafem sen 3 7

[Question ID = 1260][Question Description = $2_qSNz_PG_GP16_Q50]

1. Acceptance of emotional dissonance/ smemrar g @5 =iwela [Option 1D = 5037]

2. Free expression of feelings of frustration /ot <5 s 5 v sdcater [Option 10 = 5038]
3. Display of friendly emotions/ #icfiget sirmemat @ geeler [Option D = 5039]

4, Sidetracking the learned emotions/siizdt o smremart @t urd 3 Fzwem [Option D = 5040]
Correct Answer :-

* Acceptance of emotional dissonance/ simenras Rl £ wdiwsrdar [Option ID = 5037

Topic:- 24Punjabi Set1_A

1)

THET € HBS3 I T3
(1) fe39s, 593 ag> (2) fed9s, mde 2 fagzrs
(3) fedos, de-S03r 3 O (4) fed9m, 392 FeomET

[Question ID = 1611][Question Description = Q01_24Punjabi Set1_A]
1. 1 [Optien ID = 6441]
2. 2 [Option ID = 6442]
3. 3 [Option ID = 6443]
4. 4 [Option ID = 6444]



www.prepp.in .repp

Your Personal Exams Guide

Correct Answer ;-
e 1 [Option ID = 6441]

(1) =, asuz, fefzom, fefamrs (2) BE, THUET, USH, TH
(3) g, 3, AHH, AF (4) By, IH, AN, Hafefomrs

[Question ID = 1612][Question Description = Q02_24Punjabi Set1_A]
1. 1 [Option ID = 6445]

2. 2 [Option ID = 6446]

3. 3 [Option ID = 6447]

4. 4 [Option ID = 6448]

Correct Answer ;-

e 1 [Option ID = 6445]

3)
sz T Iwd:
(1) fex fus =& owt fue § wrfsa us (2) orawt 3 Afggnr & sdtdy et
(3) weEw 3 IEE yER S "9 (4 fonmt, wes 3 groq T fanrs

[Question ID = 1613][Question Description = Q03_24Punjabi Set1_A]
1. 1 [Option ID = 6449]

2. 2 [Option ID = 6450]

3. 3 [Option ID = 6451]

4. 4 [Option ID = 6452

Correct Answer ;-

e 1 [Opticn ID = 6449]

mios-fefors T o &

(1) rrfos = fefmrss Aot nigee femdms
2) fefomrsa feust fag” Arfofse o &t @Rdt
(3) wfuz niftrrs 2 fefomrsa wss & €rdt
(4) fefomrs 3 mfos o soo=a vifois

[Question ID = 1614][Question Description = Q04_24Punjabi Set1_A]
1. 1 [Option ID = 6453]
2. 2 [Option ID = 6454]
3. 3 [Option ID = £455]
4, 4 [Option ID = £456]

Correct Answer :-
s 1 [Option ID = £453]

Y odle T dies-as O

(L) 11721258
2 11731266
(3)  1165-1250
4 12051265

[Question ID = 1615][Question Description = Q05_24Punjabi Set1_A]
1. 1 [Option ID = 6457]
2. 2 [Option ID = £458]
3. 3 [Option ID = £45%]
4, 4 [Option ID = 6460]

Correct Answer :-
& 1 [Option ID = 6457]

TdIE g3 T TS virOas wiftis aoT o fiissr o Rdt de 9
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(1)  fams fiu, Fees fRw usert
(2) omdHs i o, oo fiu &<
(3) HS fAw AY, gofiee fiw fi&
(4)  TEI9s fiur AfdATT, 37, 59/
[Question ID = 1616][Question Description = Q06_24Punjabi Set1_A]
1. 1 [Option ID = 6461]
2. 2 [Option ID = 6462]
3. 3 [Option ID = 6463]
4, 4 [Option ID = 6464]

Correct Answer :-
e 1 [Option ID = £461]

D) oz iy 98 & w2
HIET Ha W9 59 &7 g1
sat nreErs T uE g B

I3 947 g9 7Et gl

%3S g9 € fer goH fem "o vAes’ T &t 3e-ney 3
(1) e S I Aas T

(2) wETSwWI TS T AT
(3) Ffan o uat fise

(4) TEAP HIET TH 7S

[Question ID = 1617][Question Description = Q07_24Punjabi Set1_A]
1. 1 [Option ID = 6465]
2. 2 [Option ID = £466]
3. 3 [Option ID = 6467]
4. 4 [Option ID = 6468]

Carrect Answer :-
& 1 [Option ID = 6465]

'eR T53fe 9 9<fe 7 a Hee qoe |’

fen srfe—dast = 9ware O

() g »Ems & (2) T viwe T=
(3 TR (4) = e

[Question 1D = 1618][Question Description = Q08_24Punjabi Set1_A]
1. 1 [Option ID = 6469]
2. 2 [Option ID = 6470]
3. 3 [Option ID = 6471]
4. 4 [Option ID = 6472]

Carrect Answer :-
& 1 [Option ID = 6469]

°)  wiee T R feu i S AIEE S fareTt 3
(1) 60 @ 16
(3) 360 (4) 24

[Question 1D = 1619][Question Description = Q09_24Punjabi Set1_A]
1. 1 [Option ID = 6473]
| 2. 2 [Option ID = 6474]
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| 3. 3 [Option ID = 6475]
4. 4 [Option ID = 6476)

Carrect Answer :-
& 1 [Option ID = 847 3]

"Jrrdt feAr-Arfog A9 aF' AU=a J:
(1) a9e= fAw fig

(2) amde fiwaa

(3) e ity

4)  faoEn fiu wiE

[Question ID = 1620][Question Description = Q10_24Punjabi Set1_A]
1. 1 [Option ID = 6477]

2. 2 [Option ID = 6478]

3. 3 [Option ID = 6479]

4. 4 [Option ID = 6480]

Correct Answer ;-

e 1 [Option ID = 6477)

) W3 € 29 39 feaut fuer o5
(1) (ooHs—H&a " uS o9 (2) I W oS AEE W
(3) &l ¥ w3 IEs-Gu-T (4) =TI NS HIHT B9

[Question ID = 1621][Question Description = Q11_24Punjabi Set1_A]
1. 1

[Option ID = 6481]
2. 2

[Option ID = 6482]
3.3

[Option ID = 6483]
4. 4

[Option ID = 6484)]
Correct Answer ;-
1

[Option ID = 6481]

D) e widwm wgwre i 95 S a0 § fht 3 ofew @ 59 fomm © T 31
Q) &HH TAG Ao 2) A3 ffu /A
(3) iz i @) foms i

[Question ID = 1622][Question Description = Q12_24Punjabi Set1_A]
1. 1 [Option ID = 6485]
2. 2 [Option ID = £486]
3. 3 [Option ID = £487]
4, 4 [Option ID = 6488]

Correct Answer :-

« 1 [Option ID = £485]

3 faodt 7aM Frdt § 'SEgd TE 7oK AEY @ nifimr AT &7

(1) et o= = qoH At (2) FE firgeas o wod At
(3) o= faudt 9T 7 FeEhF TE woH it (4) YIIS TSH At

[Question ID = 1623][Question Description = Q13_24Punjabi Set1_A]
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1 [Option ID = £489]
2 [Option 1D = 6490]
3 [Option ID = 6491]
4 [Option ID = 6492]

O

Carrect Answer :-
& 1 [Option ID = 6489]

2 Haarst Uit orasa 995 'fimrs asoral = &ux 3
(1) ==t Wt i (2) wE g
(3) wEEET @) T aghr

[Question 1D = 1624][Question Description = Q14_24Punjabi Set1_A]
1. 1 [Option ID = 6493]

2. 2 [Option ID = 6494]

3. 3 [Option ID = 6495]

4. 4 [Option ID = 6496]

Correct Answer ;-

e 1 [Opticn ID = 6493]

ufgsess T3 ¢ TOsa-If T At d 9

(1) wIT oK feddt- oet Hos fRw &=

(2) =t da fiw- I35 fiwr

(3) et oy fiw - ovEt Hos fRu 2w

(4 foodt 5 ydt- g 90 Ry

[Question ID = 1625][Question Description = Q15_24Punjabi Set1_A]
1. 1 [Option ID = 6497]

2. 2 [Option ID = 6498]

3. 3 [Option ID = 6499]

4. 4 [Option ID = 6500]

Carrect Answer :-
& 1 [Option ID = 6497]

16)
'TITN T TIST BOl URSE T ISST O
(1) s ffuw fiss 2) TIHUS oS
(3) Hfdeaus fiftw Saot (4) W= flu fAg

[Question ID = 1626][Question Description = Q16_24Punjabi Set1_A]
1. 1 [Optien ID = 6501]
2. 2 [Optien ID = 6502]
3. 3 [Option ID = 6503]
4. 4 [Option ID = 6504]

Correct Answer -
e 1 [Option ID = 6501]

17)

Ves &9 = wrafsa Ut afest & iy feimsr 3.

(1)  forausa urrar €t Umarat

(2) fermEiest 3 moroas sw-yE@y

(3)  wiforsna Agy 3 FUTERTEl MET

(49) yIrEhs 3 fegdt gret @ Umerat

[Question 1D = 1627][Question Description = Q17_24Punjabi Set1_A]
1. 1 [Option ID = 6505]

2. 2 [Option ID = 6506]
| 3. 3 [Option ID = 6507]
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| 4. 4 [Option ID = 6508]

Carrect Answer :-
& 1 [Option ID = 6505]
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gt S9 fiw &t apfe-femet & o gorss 9t

(1) wrufsa 5a 2 s fedt

2y iy gaw, fefsom 2 zone foo fomsr
(8) uafim 93F T ysa-@us

(4) s Sx-I35T & afex Umaret

[Question ID = 1628][Question Description = Q18_24Punjabi Set1_A]
1. 1 [Option ID = 6509]

2. 2 [Option ID = £510]

3. 3 [Option ID = £511]

4. 4 [Option ID = 6512]

Correct Answer :-

s 1 [Option ID = 6509]

19) siftardt are ¢t anfem et @ oy e -
1) yEEE - @ D sfe-o
(8) FySTw afe-uw 4) yoiere afe-grar

[Question ID = 1629][Question Description = Q19_24Punjabi Set1_A]
1. 1 [Option ID = 6513]
2. 2 [Option ID = £514]
3. 3 [Option ID = 6515]

Carrect Answer :-
& 1 [Option ID = £513]

20)  gergerst afeurar @ TISTIHR SHET T WTT I
(1) feures 3 fodss w3y € o< 9 Unarat
(2) Fo-feedo € o= & afem imardt
(3) A=-defgz g= &t afex UFardt
4 HSHt ygre € gmias @ afess
[Question 1D = 1630][Question Description = Q20_24Punjabi Set1_A]
1. 1 [Option ID = 6517]
2. 2 [Option ID = 6518]

3. 3 [Option ID = 6519]
4. 4 [Option ID = 6520]

Carrect Answer :-
& 1 [Option ID = 8517]

(1) ¥Hos fiw dee

(2) RfS=sfRugs

(3) W3 fiw A

(4)  vfoes fiw st
[Question ID = 1631][Question Description = Q21_24Punjabi Set1_A]
1. 1 [Option ID = 6521]
2. 2 [Option ID = 6522]

3. 3 [Option ID = 6523]
4, 4 [Option ID = 6524]

Correct Answer :-

"sres fror Ot vt 3, fim fea 9% 2 mufenr 3 @R S oS fefsoma ufoRfasin @ 2o 3 3@ & &R
AN ¥ Awer 3 udlfimr few ur & Tuis 93t ©t fesasT 3 une fewfenr wer 91" feR aus = 3w 3 97



www.prepp.in .repp

Your Personal Exams Guide

| ® 1 [Option ID = 6521]

o fefip foF faoar g2 Rt &df O
(1) I3e fiw Jas- mfogew (2) =37 ffw- &z 3 13y
(3) gefors flu- T3 faek ssfan (@) w3 39~ €T Ae

[Question ID = 1632][Question Description = Q22_24Punjabi Set1_A]
1. 1 [Option ID = 6525]
2. 2 [Option ID = 6526]
3. 3 [Option ID = 6527]
4, 4 [Option ID = 6528]

Correct Answer :-
e 1 [Option ID = £525]

23)

Iz feftmr o5 faoTr de At o9 9
(1) I3 d9- 59 T (2) ifiET fieu- 37 399 36
(8) ¥l d9- UAS HHST @) uHh a9 fewe- 7 fas o9

[Question ID = 1633][Question Description = Q23_24Punjabi Set1_A]
1. 1 [Option ID = 6529]
2. 2 [Option ID = 6530]
3. 3 [Option ID = 6531]
4. 4 [Option ID = 6532]

Correct Answer ;-
e 1 [Option ID = £529]

24) gttt o faoer T9w 2938 5 AEGS I

() Jg, 958, fiw, Asfodt fase

(2 it T fourd, € Soerar SUMr, Fofadt fasar, o9
(8)  »eEEt amE, §3 feas, Gusr wae, At B9

(4) fex Ser Mg, nes feans, JiW gu, Ga 439

[Question ID = 1634][Question Description = Q24_24Punjabi Set1_A]
1. 1 [Option ID = 6533]
2. 2 [Option ID = 6534]
3. 3 [Option ID = 6535]
4. 4 [Option ID = 6536]

Correct Answer :-
& 1 [Opticn ID = 6533]

23) e Aae (1978-1992) &% REfas W &ee 8 §e Aot d:
(1) 7o feor, Ao U adnr (2) w99, gosral s 9
(3) 2 uwIte T FE=, w3 I 4) a%e A% € o, d9 § uE

[Question 1D = 1635][Question Description = Q25_24Punjabi Set1_A]
1. 1 [Option ID = 6537]
2. 2 [Option ID = 6538]
3. 3 [Option ID = 6539]
4. 4 [Option ID = 6540]

Carrect Answer :-

1 [Option ID = 6537]

THEI ITat € FER BT T T P E T

(1)  Hoe & N T vAEr (2) fongft g Hiaerer o fodg
(3) sz T §ud 9 Unaat @) fire v faioz U
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[Question ID = 1636][Question Description = Q26_24Punjabi Set1_A]
1. 1 [Option ID = 6541]
2. 2 [Option ID = 6542]
3. 3 [Option ID = 6543]
4, 4 [Option ID = £544]

Correct Answer :-
e 1 [Option ID = £541]

ufarsst U sear o Jot ie 9

1 g 3=, go= ¥

@ WA, dOF §3 <hft

(3) FAGH, AT

(4) HAW yEhmr, M AEa soT ot

[Question ID = 1637][Question Description = Q27_24Punjabi Set1_A]
1. 1 [Option ID = 6545]

2. 2 [Option ID = £546]

3. 3 [Option ID = £547]
4, 4 [Option ID = 6548]

Correct Answer :-
a 1 [Option ID = £545]

28)

Tt Sfe-aTe T wiftils URsa O
(1) T 9T IFUS (2) s fifur nimy
(3) HEHSUS a9 (4) e Ifos

[Question ID = 1638][Question Description = Q28_24Punjabi Set1_A]
1. 1 [Option ID = 6549]
2. 2 [Option ID = £550]
3. 3 [Option ID = £551]
4. 4 [Option ID = 6552]

Correct Answer :-
s 1 [Option ID = £549]

"I How" feo HIw A9T € M99 T5;

(1) €ures g da T ufow fears dizr 72|

(2 €9 Aes {8 =f50 95 § awi feare &z el

(3) €u rus 8 ufsw o sfaamr sigr A |

(4) ¥ = AES

[Question ID = 1639][Question Description = Q29_24Punjabi Set1_A]
1. 1 [Option ID = 6553]

2. 2 [Option ID = £554]

3. 3 [Option ID = 6555]
4. 4 [Option ID = 6556]

Carrect Answer :-

1 [Option ID = 6553]

30) 'afg wagat' O

(1) fea forim fami & nz | figh &% 92t gorat AEfUS 92|

) furdt fog fondbor aodmr & fe| yfia 3fa, | 92 »@T 31

(3) Qv @ w faR yHar 7 fag3’3 o Afaw 25 751

(4) E@mmam,mmm-ﬁu#mmmﬁﬁamauﬁgm-qﬁagﬁ
= f

[Question ID = 1640][Question Description = Q30_24Punjabi Set1_A]
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. 1 [Optien ID = 6557]
2 [Option ID = 6558]
3 [Option ID = 6559]
. 4 [Option ID = 6560

N S PO L ey

Correct Answer :-
e 1 [Opticn ID = 6557]

Faaa gt fan aur/aoat & 88 3 8¢t fewrEl 9 A

(1)  »uE vy feo g9 5ot 3

(2)  nuE wry fo9 AySs niew st )
(3) Fe9z e aws wils §F Fust )
(4) wuE vy 9 555 3 ARlT 9

[Question 1D = 1641][Question Description = Q31_24Punjabi Set1_A]
1. 1 [Option ID = 6561]
2. 2 [Option ID = 6562]
3. 3 [Option ID = 6563]
4. 4 [Option ID = 6564]

Carrect Answer :-
s 1 [Option ID = 8561]

"fArdt FFarar vifthis: fefsoR 2 yoids yRSa o 8937 4
(1)  =voq fiw

2 TEaT g9t

(3) =oow A fie

(4)  ffies Awas

[Question 1D = 1642][Question Description = Q32_24Punjabi Set1_A]
1. 1 [Option ID = 6565]
2. 2 [Option ID = 6566
3. 3 [Option ID = 6567]
4. 4 [Option ID = 6568
Correct Answer ;-

e 1 [Opticn ID = 6565]

AT noAs IEel T9sme 3t

() fouat ey

2 forders Aoe-gors

(3) wHfAa T nigAT Yarew fedt
@  forasfea 30

[Question ID = 1643][Question Description = Q33_24Punjabi Set1_A]
1. 1 [Option ID = 6569]
2. 2 [Option ID = 6570]
3. 3 [Option ID = 6571]
4. 4 [Option ID = 6572]

Carrect Answer :-
s 1 [Option ID = 6569]

4] "gHT winuged Qeamft yIiat & yEu 9, fam oA fev mfae myo Afose ee 91" s fam gwr

fefommst & 39

(1) =BTz
2 EEs

(3) FfMgs

(4) €, il
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[Question ID = 1644][Question Description = Q34_24Punjabi Set1_A]
1. 1 [Option ID = 6573]
2. 2 [Option ID = £574]
3. 3 [Option ID = 6575]
4. 4 [Option ID = 6576]

Carrect Answer :-
s 1 [Option ID = 6573]

fefsoma g fefomrs T € Ay 05

(1) sw3eaw

(2) fearea 3 vawd

(3) WEE T HaS 3 fefomrs

(4) Ho-g fefomrs § mve o fefomrs

[Question ID = 1645][Question Description = Q35_24Punjabi Set1_A]
1. 1 [Option ID = 6577]
2. 2 [Option ID = £578]
3. 3 [Option ID = 6579]
4. 4 [Option ID = 6580]

Carrect Answer :-
* 1 [Option ID = 6577]

SH Al € IR fere-fonmu (universals) TF »rovg 9:

(1) 7 £ Aego=and fefdoar

(2) FE= E »zdR Al

(3)  IHE aEsT € yee-woH e
(4) FHT T AR Yyaad

[Question ID = 1646][Question Description = Q36_24Punjabi Set1_A]
1. 1 [Option ID = 6581]

2. 2 [Option ID = £582]

3. 3 [Option ID = £583)]

4, 4 [Option ID = 6584]

Correct Answer :-

& 1 [Option ID = 6581]

) et waew @ fefsam feg Srarer wg' @ IR frod A fem wdt A

ey 1912 (2) 1914
(3) 1916 (4 1918

[Question ID = 1647 ][Question Description = Q37_24Punjabi Set1_A]
1. 1 [Option ID = £585]

2. 2 [Option ID = £586]

3. 3 [Option ID = £587]

4. 4 [Option ID = 6588]

Correct Answer :-

» 1 [Option ID = 6585]

'Twg | 259 9 F ufon fan wiagst ses o JEE gu 3

(1) Roll of Honour

(2) Fight For justice
(3) Anita And Me

(4) Midnight Children

[Question ID = 1648][Question Description = Q38_24Punjabi Set1_A]

prepp
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. 1 [Optien ID = 6589]
2 [Option ID = 6590]
3 [Option ID = 6591]
. 4 [Option ID = 6592

N S PO L ey

Correct Answer :-
e 1 [Opticn ID = 6589]

) faQ TBASE ¢ o<E 'Wa 3 wiE’ T nigee fam 3 oiE
(1)  gg=A
(2) =985 fAw
(3)  mHudHg
@)  ofesws fRur

[Question ID = 1649][Question Description = Q39_24Punjabi Set1_A]
1. 1 [Option ID = 6593]
2. 2 [Option ID = 6594]
3. 3 [Option ID = 6595]
4. 4 [Option ID = 6596]

Carrect Answer :-
s 1 [Option ID = 8593]

40
b et et s dews 85w um b
(1) 333 ffwr Fat
(2 gede fifw &=
3 A Ay

(4)  mfstee fiw afog

[Question ID = 1650][Question Description = Q40_24Punjabi Set1_A]
1. 1 [Option ID = 6597]
2. 2 [Option ID = 6598]
3. 3 [Option ID = 6599]
4. 4 [Option ID = 6600]

Carrect Answer :-

1 [Option ID = 6597]

M roemet @ wfoz-fiois s Moz fee o o9w 3

(A) ¥OH 9

B I3 A
(C) edthees
(D) FoEs @B
(E) #oosdd

I5 83 a2 feamt o5 A9 AGt Aee & 92

1)  ©&.®), 0=
2 ®.©C). D)=
3 . ©), E=S

@ @A®.O%=

[Question ID = 1651][Question Description = Q41_24Punjabi Set1_A]
1. 1 [Option ID = 6601]

2. 2 [Option ID = 6602]

3. 3 [Option ID = 6603]

4. 4 [Option ID = 6604]

Correct Answer ;-

e 1 [Option ID = 6601]
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[Question ID = 1652][Question Description = Q42_24Punjabi Set1_A]

At 9t afe o feRms=T 95!

(A) foo Ae<t afe & feg 32 T

(B) few fou Sive @ &t dFaet 3 91

(C) femet e = Faltzsg = Ager aat |

(D) feo o AHErSt Hees' 3 9 wufow ger 9
(E) feo Aa-80 <9 &% arfenr & 7er 3

35 &3 a2 feamu foo' AE 3 At Aeme & 92

(1)
(2)
3
4

A), (B). (C) =&
&), B), ) =5
A). (©). D) F=E
&), B). (E) =&

1. 1 [Option ID = 6605]
2. 2 [Option ID = 6606]
3. 3 [Option ID = 6607]
4. 4 [Option ID = 6608]

Carrect Answer :-
e 1 [Option ID = 6605]

[Question ID = 1653][Question Description = Q43_24Punjabi Set1_A]
. 1 [Option ID = £609]
. 2 [Option ID = £610]
. 3 [Option ID = 6611]

R

garet €t guarad fSRAT=T 95
(A) o @ feamres

B) I As T

(C) & yass

(D) wHEaS I nfaRsT Ie-Yuy
() fugsizx afe

75 &3 o fegmu fes' we §° Aot /e § 92

D
(2
3
4@

&), (€), D) ==
(A). B). D) F=H
@). D). (E) 5=

A). (B), (E)a=®

Carrect Answer :-
s 1 [Option ID = 6609]

AR TN E QW= = 05
(d) B3 RS
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[Question ID = 1654][Question Description = Q44 24Punjabi Set1_A]
.1 [Option ID = 6613]
2 [Option ID = 6614]
3 [Option ID = 6615]
. 4 [Optien ID = 6616

T e

Correct Answer :-

(D)
©)
(D)

(E)

g4 € Had Ho=S1IA'OS & SJ9048

e &t =o
39 =t v feo 99 & fesAe €2 foniw
USgdt ST & 793

I3 &2 a2 feamy fed' AES° At Aore 3 92

(1
(2)
3
(4

B). (O), D) 7=
E). D). (C) 75
A). B). D) =5
®), (C), (E) =5

& 1 [Option ID = 6613]

[Question ID = 1655][Question Description = Q45_24Punjabi Set1_A]
. 1 [Option ID = 6617]
2 [Option ID = 6618]
. 3 [Option ID = 6619]
. 4 [Opticn ID = 6620

T e

Correct Answer :-

HEt 5 WS Bt fAsRfenr = wat e O
(&) §wIe Tg- fomt

(B) ¥ ZHig- sa@Eel

(C) ofed IHS ¥&T HEJT- yggedel
(D) i Igg- g

(E) 4= 5 T9e- samast

3z €3 o foawyt fed’ A9 3 Aot AoE § 75

Y
(2)
(3
(4

B). (C). (D) =5
(©). D). (E) &=
D). (E), (A4) =
&), (€), (D) =S

& 1 [Option ID = 6617]

A fiur w3 2t @ fues 75
(4) A3 i

B) 93% fAw Fait

(€ afsgws fiu

D) = A

prepp
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(E) fiprar fifur yen

3z &3 o2 feomu fed’ A8 S° ATt AR § 92
(1) A (), (B)a=s

2 @B, (©),Daws

3) @), D), ET=TE

4  (©). D). E) as

[Question ID = 1656][Question Description = Q46_24Punjabi Set1_A]
1. 1 [Option ID = 6621]

2. 2 [Option ID = 6622]

3. 3 [Option ID = 6623]

4. 4 [Option ID = 6624]

Carrect Answer ;-

s 1 [Option ID = 6621]

JATEt T »3 T T Ad §e 9
(&) g & T9- i IT
(B) dfonr & T9- 39

(C) T=gE<lTI-ATH

(D)  Fdha € - o fAw
(E) arzt & 9~ &=t A

35 3 o feawr o W9 5 At w3 95
O @ (©). D)
@ ®),(©), D s

(3 (©.D).EFE
@ @& .®.D)=s

[Question ID = 1657][Question Description = Q47_24Punjabi Set1_A]
. 1 [Option ID = 6625]
2 [Option ID = 6626]
3 [Option ID = 6627]
. 4 [Dption ID = £628]

R VL N L Y

Correct Answer :-
e 1 [Option ID = 6625]

Unrdt fsdu-rqfy »2 fodaare’ = Adt g 9

(&)  fea g 3 397 mud- gemum fivw s w=t
(B) fiw-dgnt & nft gEr- ps il RS
(C) VA Ty 538~ vedls fAwr

(D) A9 aaar Afog- TEaver At

(E) =9 =dhi- 3fdes fiw g

3z €3 a2 feomy fod’ 73 5 At AE 3 92
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(1)
(2
(3)
(4)

A). (C). (E)T=m
®). (C), (A) =5

(©). D). (E) a=5
(E). D). (A) 3=S

[Question ID = 1658][Question Description = Q48_24Punjabi Set1_A]

1. 1 [Option ID = 6629]
2. 2 [Option ID = 6630]
3;
4

3 [Option ID = 6631]

. 4 [Option ID = 6632]

Correct Answer -
e 1 [Option ID = 6629]

(&)
(B)
©)

(D)
(E)

wfaRs™t At Sy-yRsSar »iS Suar T AdT g2 9

=feze- sdia e

Y T A'g- HEI'E TAS
g™~ AT o
NN - niozat nEt

AoT- WAR 995

Iz &3 o feamut fed’ A8 S ATt AR & 92

(1)
(2
(3)
(4)

®). (). D) &=>
A). B), (C) 3=
(B). (C). (B) &5

(©). D). (E)3=5

[Question ID = 1659][Question Description = Q49_24Punjabi Set1_A]

1
i
3.
4

.1 [Gptien 1D =
. 2 [Optien ID =
3 [Opticn ID =
. 4 [Optien ID =

6633]
6634]
6635]

6636]

Correct Answer ;-
e« 1 [Option ID = £633]

(A)
et T

(B)
(©)
(D)
(E)

fire o9 see<t & afes T3 faos aus =09 At 75

fire avg & afesr fov fimms/fena @ g § fager 2 fifg €3 fear & grga § STanEt Umarst &t

fire sfe o i 2 fimrs 3 ARrg o sidfte Safont § fom gt @ fedu/ede oo O aoe 91
fre-arfe s sedg-arfe @ fipars 3 yah § midge fes fageer &)

fre-aife feg Wifiggr-anfe T firrs @ v o e S/igsns fandt 399 adt ger 9

fae-af firgor = four yAgdtaas adt, A femer &% v ot wfvar 31

35 &3 o feamyt o5 AE & Aot 7ee 3 92

)
2
(3

&), (B), (C) ==
®). (C). (D) I=®
(©). D). (E) T=®

prepp
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4

A). D), (B) &5

[Question ID = 1660][Question Description = Q50_24Punjabi Set1_A]

HE NPT o gy

. 1 [Option ID = 6637]
. 2 [Option ID = 6638]
. 3 [Option ID = 6639]
. 4 [Dption ID = £640]

Correct Answer :-
a 1 [Option ID = 6637]

A At afesr fog Tues @@ fgrdhioa saeiet o5 fen fev ¥5 fad o= 3 o gos' & Afoge

(4)
(B)
(©)

D)
(E)

Age § mat:
FIaHd wEras @ AUTE fasas T faser
fémms 3 Tenea A § Yo
Tarinig @ AR, fers § wwes S o faag
STTE Ao T WUSTEL §TEIE § HeST
fesrauraw yfsdgsr 2 gist 3 gud <t duarat

3z &3 o2 feomu o A8 T ROt ATE @ 9

(L
(2)
(3)
(4)

(A), (B), (E) =5
®B). (C), (D) =S
A). (C), (B) =5
A). B). D) &=

[Question ID = 1661][Question Description = Q51_24Punjabi Set1_A]

HE N TR S Sy

. 1 [Option ID = 6641]
. 2 [Option ID = £642]
. 3 [Option ID = £643]
. 4 [Dption ID = £644]

Correct Answer :-
a 1 [Option ID = 6641]

fenEtest wieeRew s o9 99 feRurs yfeasnt yEfes 75 -

(A)
(B)
(©)
(D)

(E)

fenaste=t Faaee
IHifoz fefsow fiens
Ivfox Yot

o0 I L

oefus YSI-Aantst

¥ &% o feomy fes Ag T Adt AT e & 9% -

)
@)
3
(4

&), B), (C). (D) a=B
(B), (C). (D). (B) =&

(©). D), (B). (1) &=
D). (E), (A), (B) ==

[Question ID = 1662][Question Description = Q52_24Punjabi Set1_A]
| 1. 1 [Option ID = 6645]

prepp
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| 2. 2 [Option ID = 6646]
3. 3 [Option ID = 6647
4. 4 [Option ID = 6648]

Correct Answer :-
& 1 [Opticn ID = 6645]

73} gafenmrs fiw niffTr seeae 3, M @t sos g ooRfea ge i B 91 91 feRdt g 9

(A) B8R T usy fonast @ 96 3 AR AYTT 3 RS 2 yfsfeu

B) F¥ gy fee oo & 75 F Tos A

€ feg fou wus fenct € Feos feafas »S AHTrEt 95|

D) feg' & 35 fom ouis fordl uSur fegeinr aaret Sa fermus 31

(E) fegt ot eh-arera o2 wigw At &t gz 35 €39 &2 v gifos a9 3% 751

o 183 a2 feamut oo’ A8 S ROt ARE § 9T ¢

B A.6B.OC.Dxs

@ @A), ®, O, EITS

(3) (A). B). (C). (E) a=®

(4) ®B). (C). (D). (E) 3=
[Question ID = 1663][Question Description = Q53_24Punjabi Set1_A]
1. 1 [Option ID = 6649]
2. 2 [Option ID = 6650]
3. 3 [Option ID = 6651]
4

. 4 [Option ID = 6652]

Carrect Answer :-
& 1 [Option ID = 6649]

(A) rufaa HAfenr w3 Aeeet 3 fRever & woe fraer|

(B) THSE w3 W3I-TASE HAfEHT WS Aeag ¥ fagzisa-yHar &t dasrdt |
(C) fB5-f8s guor-Aees 3 Un aos W fea ot famet &t =a5 |

(D) fA A% MBS 7 nedn 3 frawe & 35t & a=8=

(E) ey yfs voradt gt 3§ 095 95"

TS fasu e m I Adtrea g 32 ¢

1 A). B, ©), D)o

2 (A B), D), E) xS

3 B (@) D), E TS
4 A ®).©), EFs

[Question ID = 1664][Question Description = Q54_24Punjabi Set1_A]
. 1 [Option ID = 6653]
2 [Option ID = 6654]
. 3 [Option ID = 6655]
. 4 [Option ID = 6656

T e

Correct Answer :-
& 1 [Opticn ID = 6653]
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) et w2 Pt o wR P D -

(a) fex fige fiee - a939 ffw g
(B) fex WzT- vt AR ST
(C) fEosas- 30 5 mgFr
(D) fex owfez 99— nimia i sy

(E) U3z <t §et- gee9s fiw A
35 63 aF fesmut s g 3 Wit AR § 92

D A).©). D) =S
2 ®.©) D
3 (®.®. D&
@ (C). D), (E)a=s

[Question ID = 1665][Question Description = Q55_24Punjabi Set1_A]

1. 1 [Optien ID = 6657]

2. 2 [Option ID = 6658]

3. 3 [Option ID = 6659]

4. 4 [Option ID = 6660]

cormct hnswer .

e 1 [Option ID = 6657]

TH-33 &% Ffug feaiafiet & At de O

(A o 7 I, o

(B) fosfinr, ea HoHt uS o

(C) o AR, Frfeet

(D) fusr fimrs, 9 93 ARS

(E) 939 8§39, §-ud

35 & o2 feomut fes’ AT S° At AeE & 9% ¢
1 ®). (), D) s

(2) (C), D, E)a=s

@ Q.6 BT
@ Q)OO

[Question ID = 1666][Question Description = Q56_24Punjabi Set1_A]
. 1 [Option 1D = 6661]
2 [Option ID = 6662]
3 [Option ID = 6663]
. 4 [Option ID = 6664

N S PR ey

Correct Answer :-
e 1 [Opticn ID = 6661]

ST-UATar M3 WEISr T Adt i 9

(A)  F ¥ig- J9ngs ity

(B) st fearat (AU, fAos 3 feam- qefenns fAw <5
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(C) o2 o faauns- OO0 TS
(D) Ut arew = fefsom- wigeonts fifw Aag
(E) fhoas=sHa oed fsoens- Aans fiw st

35 &3 aE fegmur fed’ A §° Aot Ao § 92

1 ®.C).D) 3=
2 @) ®B). D)F=s
3 (C).D),([E &=
@ (B).D), B
[Question ID = 1667][Question Description = Q57_24Punjabi Set1_A]
1. 1 [Optien ID = 6665]
2. 2 [Optien ID = 6666]
3. 3 [Option ID = 6667]
4. 4 [Option ID = 6668]
. {;orrect hnswer —
e 1 [Option ID = 6665]

9% Ton auy o7 {097 aus At 75

(4) fersiaes = yfafonr 52 w3 wnile Afsnrae € fawe &t yfafor gzt 7 ot 91
(B) fen<izags &t wafafon 23 w3 fears Afewere’ @ wA9 & ware B¢ 99t 1
(C) fondioms few To=T 9, AR 3 fefSs AfowrorsT fo98 Ao g u=H o3 &7 31
(D) fereiaos ards wifenr geare wisfaa wiS Afoa 31

(E) fer<idas & 995 Unrst Afgnrae = umHiaes a famr 91

I3 &5 o feams o5 A9 3 At w3 92

(1) (A), B), (E) T
(2) B). (C). D) &==
(3) (C). D), (E)a=s
(4) A), M), (C) &==
[Question ID = 1668][Question Description = Q58_24Punjabi Set1_A]
1. 1 [Option ID = 6669]
2. 2 [Option ID = 6670]
3. 3 [Option ID = 6671]
4. 4 [Option ID = 667
e ¥ e
e 1 [Option ID = 6669]

%) guras & gu-feor A froF aEs w95
(A) goos fou aFt I® USUTIS 991 5% Usl aEt g9t 9|
B) =3 3 aEmsha €0 775 Un disT famr ge 3
(C) Umardt ®Et o guer, yshar 3 fiar &t 793 oist met 3 3 aT Aue o &1
(D) Unardt feg Favs & wifsfenast o9 fass gt 91
(B) 399z feq 597 € Jomvet yms o951
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3z &% o2 feomy s’ A8 ¥ Aot ATE @ 92

(1
2
(3
(4

A). B), (C). (B) 5=
). (B). (C), (D) &=
®). (C). (D). (E) 3=&
D). (E), (A), (B) =5

[Question ID = 1669][Question Description = Q59_24Punjabi Set1_A]
. 1 [Option ID = £673]
. 2 [Option ID = 6674]
. 3 [Option ID = 6675]
. 4 [Option ID = 6676]

1
2
3
4

Carrect Answer :-
& 1 [Option ID = 6673]

i5 g9n oo fao3 s A= ¥ <09 Adt 75

(A)
(B)
©
D)
(E)

AignTag & Fawy AfgnisT € 59789 54t |

Rfgnrarg T Rasy w39 HUST 9 & SO90usT '8 RUg Juer 91
Afswrors fex fods9 Tasv g1

Afenarg fenmim & us feim & 31

Afgnrag Afes & T wE ufoeasents &

Iz &% o2 feomu fod’ A8 5 At AR & g2

(1)
(2
3
(4

A). (B), (C) Tz
(©). (D). (E) o=
B), (D), (E) =8

A). ), (BE) T==

[Question ID = 1670][Question Description = Q60_24Punjabi Set1_A]

-

Correct Answer :-

. 1 [Optien ID = 6677]
2 [Option ID = 6678

3 [Option ID = 6679]
. 4 [Option ID = 6680

e 1 [Option ID = 6677]

D gt zezrd @ fefs tna 75
@) IR
® T
(C) =Ea=H
D) nIg-felmrss
E mra-fefaora

3z &2 o2 feomy ' A S ASt AT 9 @ 9% ¢
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A). B), D), (B) &=
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[Question ID = 1671][Question Description = Q61_24Punjabi Set1_A]
. 1 [Option ID = 6681]
. 2 [Option ID = 6682]
. 3 [Option ID = 6683)
4 [Option 1D = 6684)

HE N TR S Sy

Correct Answer :-
a 1 [Option ID = 6681]

A m

®) T=ET
(C) #=

D) &
() fodivs

3z 8% 2 feomr fod BT Aol AT § g
D A.®).C) T
2 ®.©), E =
3 @A) ©C). B
@ @).®), 0T

[Question ID = 1672][Question Description = Q62_24Punjabi Set1_A]
1. 1 [Option ID = 6685]

2. 2 [Option ID = 6686]

3. 3 [Option ID = 6687]

4. 4 [Option ID = 6688]

Correct Answer ;-

e 1 [Option ID = 6685]

&H SHAGT & Ha@T &% ANOS 991 J;
(A) Tm ewd A
B gt €99 fedit

(C) Gz 2 fsz€
D) U 3w

(E) HIJHAIT

Iz & o2 feomy fod’ A8 3 At A9 & 92
1 @O DOF
2 Q). B) DO

3 @), D), E=5
@ (©. D) E TS
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[Question ID = 1673][Question Description = Q63_24Punjabi Set1_A]

1
2
3.
4

. 1 [Option ID = 6689]
. 2 [Option ID = 6690]
3 [Option ID = 6691]
. 4 [Option ID = 6692]

Correct Answer -
e 1 [Option ID = 6689]

o fao3 o35 AIt 75
(&)  wew e yfaest T ger 9
B) U= &t TUR mifsEfes gt I
(C) y&<H 3 E5 & UTE ¥ 3fge UsTH T
D) y&oR @ we I yast ot yeTR 3
(E) 4&<H yS<H 8¢ & 3% o wrge a9t 9

35 &3 o feamut fed' A9 S ATt AeE B 92 ¢

(1)
2
(3)
4

@A), B). (©)
(©), (D), (B)
(E), (A), (B)
®B), (©), D)

[Question ID = 1674][Question Description = Q64_24Punjabi Set1_A]
. 1 [Option ID = 6693]
. 2 [Option ID = £694]
. 3 [Option ID = £695]
. 4 [Dption ID = £696]

N PTR  Jy

Correct Answer :-
a 1 [Option ID = 6693]

%) m-feddinit wich faS aEs <03 AR 05
(A) =EIT 2 fimrfant ¥ 3T TEsT A fegrat § AterS a9 fsansm fedt 31
B yfuareest fedt fe9 ferum 7F AIEATTSE RSt 3 felm Bfadt 3 ugse = feos T
(C) wiftoraHa 439 7 ST € A foprs & wiferars goorest fodt awit ger T
(D) Figew fars- yust & 3 A9 fedt oot feu a=® Au 7 OF Bt €370 wEe W@ T
AT § 1
(E) »mana=vd fort feg foRm mfast 3 fovmum v RegRorsE Afest @5 udss o feos 31

35 &3 o fegmut o5 /g ' Aot 7ee 3 92

(D
2)
(3)
@

). B). (C) ==
®B), (C), D) 7=
©). D), (B) &=
E). (A). (B) =3

[Question ID = 1675][Question Description = Q65_24Punjabi Set1_A]

o R

1 [Option ID = 6697]
2 [Option ID = 6698]
3 [Option ID = 6699]
4 [Option ID = 6700]
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Correct Answer -

e 1 [OptienID =

6697]
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&)
(B)

(C)
(D)

I &3

0y
@
(3
G

RIS et I o® Ws av ¢

"t I
q=39 3 339
A3 3 ydg
3fo 3 @Fa

ofegfsd 3 sfemier

a2 feamy fed’ Aot 7ew § T8

(A4)-aD), B)-IV). (O)-(ID), (D)-(D
(A)-IID. (B)-ID. (O)-(D, (D)-AV)
(A)'{I)! (B)'(Ims (C)'{I“'T)! (D)'(ID
(A)-@V), (B)-(I), (C)-(AD), (D)-(IID

gt I

(D) Fago=w
(D) YaaRe<
(II) Afenraex mimis

(IV) &I%Iar

[Question ID = 1676][Question Description = Q66_24Punjabi Set1_A]

1. 1 [Opticn ID =
2. 2 [Opticn ID =

3. 3 [Optien D =
4, 4 [Optien ID =

6701]
6702]
6703]
5?{}4]

Eorrect ﬁmswer

e 1 [OptienID =

6701]

(A)
B
©
D)

s &3

(1)
(2)
3
@

et 1 § met 11 o5 s &9

Al
AIS9 it 333 TS UIH
firrd fas vRgs €5 7
fewsr a9 AEE feas a ofs

Unit O N9 HIAfe T W 5 T B

aE foomr fod Adt Ao § 9
(A)-@). (B)-(ID). (C)-AD). (D)-(IV)
(A)-(D), (B)-@. (C)-(IV), (D)-(1I)

(4)-D. B)-AV), (O)-D. O)-AID)
(A)-@V). (B)-dIL), (C)-(1), (D)-dD)

"t 11
O TwE
ID &= gde
(III) "vT ORs

[Que'stinn ID = 1677][Question Description = Q67_24Punjabi Set1_A]

1 [Opticn ID =
2 [Gption ID =
3 [Gption ID =
.4 [Optmn iD=

-h"u\-il\-’-—‘

6705]
6706]
6707
5?{}3]

Correct Answer :

e 1 [OptienID =

6705]
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Tl

(A foors fiw

B) wEs Ay

(C) m@tafe

(D) w=IwT9d
35 &3 a2 feamy o9 At AeE § 92
D @-av). @)-aD, (©)-aID). @)-O
2  (A-D, B)-@). (C)-@V), (D)-(ID
3  A-D. B-AV), (C)-dII). D)-(ID
@  (A-ID. ®B-OD. (O)-D. O)-aV)

FoT Ll
(1) T It fig agnr
D) e &99

V) v 79 difde fiw

[Question ID = 1678][Question Description = Q68_24Punjabi Set1_A]
1. 1 [Option ID = 6709]
2. 2 [Option ID = 6710
3. 3 [Option ID = 6711]

4. 4 [Option ID = 6712

Correct Answer :-

& 1 [Option ID = 6709]

(4)
(B)
(©)

9t 13 5ot 11 &7 s o -

met I
TAHTT HTHT
3. 79 fitw

sfigaus i

D) yeus fAw

3z fd2 g feamut fog’ At ew 3 92

(1)
(2)
(3)
@)

A)-@. B-1ID). (C)-AV). D)-1D)
(A4)-a1ID, (B)-D). (O)-(D. (D)-@V)
(&)-0D, (B)-(ID. (C)-@. M)-@V)
(A4)-@AV), (B)-(1). (C)-(I1I). (D)-D

Het 1T
D yErEsT
(M =7 wen fes
(IIT) Ao THiedt AETaHT
IV) A% mIe

[Question ID = 1679][Question Description = Q69_24Punjabi Set1_A]
1. 1 [Option ID = 6713]
2. 2 [Option ID = 6714]
3. 3 [Option ID = 6715]
4, 4 [Option ID = 6716]

Correct Answer ;-
e« 1 [Option ID = £713]

0 mRIdpR e IS

(&)

(B)

Fet 1
&% iy fos
HoHIS feee
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met I
M Y=t afesr
(I) us<Ht afesr
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T

b DO LT L LT

(D) o= aBes

1
)
3
(4)

(A)-AID, (B)-AV). (O)-AD, (D)-(D
(A)-0V). (B)-D). (C)-(). (D)-(IID
(A)-(ID). (B)-D. (C)-(ID, (D)-AV)
A)-AD), (B)-(V), (C)-(D). (D)-(1LL)

\LAILF 10% W Wi WViITw

IV) o=t afesr

[Question ID = 1680][Question Description = Q70_24Punjabi Set1_A]

N U VU Ty

1 [Option ID = 6717]
2 [Option ID = 6718]
. 3 [Option ID = £719]
. 4 [Dption ID = £720]

Correct Answer :-
« 1 [Option ID = £717]

(4)
(B)
(©)
(D)

Aot 13 et 1 5% WE @9 -

At I
oo i
ARes fif d<5
Ffenrs fHur
=y 39 feom

35 o3 o feamyt foo At AeE § 92

@
(2)
(3)
@

(A4)-av), (B)-(Iip, (O)-amn, (M)-(h
(A4)-IV), (B)-(D). (C)-(D), (D)-AID
(A)-aD), (B)-(IV), (C)-(III), (D)-()
(A)-(ID), (B)-AV). (O)-@, (D)-AD

wet 11
I wez €
ID) 3 st J
(III) IAsHE

(V) g fufonr 5%

[Question ID = 1681][Question Description = Q71_24Punjabi Set1_A]
1. 1 [Option ID = 6721]
2. 2 [Option ID = 6722]
3. 3 [Option ID = 6723]
4. 4 [Option ID = 6724]

Carrect Answer :-
& 1 [Option ID = 6721]

(A)
(B)

©)
(3)

7 13 59t 11 57 Aw &9 -

T 1
T9ns AW faprst
e =

By fiw Fo9

WHAHT 93

w11

O gouaa &

am s w3
1) w3 = fenrg

prepp

Your Personal Exams Guide



www.prepp.in .repp
Your Personal Exams Guide

(1)  @-d). @B-O, O)-1D. O)-aV)

2y  A)-OM, B)-dD, (C)-1AV), (D)-d1I)

3  A-0D. (B)-O. (O)-aID. O)-AV)

4  A)-A). (B)-AD. (O-(IV). (D)-D

[Question 1D = 1682][Question Description = Q72_24Punjabi Set1_A]
. 1 [Option ID = £725]
2 [Option ID = 6726]
. 3 [Option ID = 6727]
4 [Option ID = 6728]

R

Carrect Answer :-
e 1 [Option ID = 6725]

) rRIgmR I smAmaT

et I AR 1T

(A) TEHE fifu 29 M I

(B) wRAfeEs fiw 1) A FF-Afo3 ARST

(C) A. A, Tewrar &2 (D) Afgnrag w Uwdt Afgn=g
(D) efés Afgwrest av) foor

5 3 o feamt foF Aot 7w 3 B

1)  (A-dID, (B)-AD), (C)-D), (D)-AV)
@  (A-O. B®-(ID. (O-AID. (D)-AV)
3  (A-dD. B-OD. (C)-AV), D)-(D
@  (A-AV), B)-10D, (C)-AD, (D)-(

[Question ID = 1683][Question Description = Q73_24Punjabi Set1_A]
1 [Option ID = 6729]
2 [Option ID = 6730]
3 [Option ID = 6731]
. 4 [Dption ID = £732]

DB ot R

Correct Answer :-
e 1 [Option ID = £729]

74) . -
AR ISHR I8 NS 9 :
w1 Fet II
(A) ufonrs (M &
(B) sz (ID) ywrdt
C) 3 (III) gt
(D) girays (IV) wHoegt

Iz &% w2 feomyr o5’ Aot e § 3¢

1) (A)-dID. (B)-AD. (C)-{). (D)-AV)
@  A-dID. B-AV). (O)-1D), (D)-M
3 (A-aD. (B)-AV). (O)-1). (D)-(I1D
@  (A-IV). B)-, (O)-1), (D)-(1D)
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' [Question ID = 1684][Question Description = Q74_24Punjabi Set1_A]

N TR 5 Y

. 1 [Option ID = 6733]
. 2 [Option ID = £734]
. 3 [Option ID = £735]

4 [Option 1D = 6736]

Correct Answer :-
a 1 [Option ID = 6733]

et 13 A<t 11 5% WS &9 ¢
71 Fet 11

Q) = O ¥ Fux: qur FERT
ETeS: THHS Rl

(B) it gt ) e e 25 eins
mEeed: JEdle fAw A€

(C) wrt Ay (I} ¥® BUA: YIS WA 5
wETeq: s1ame, AIeT

(D) Sxtmr e FBE AV) H® Bya: asfes mass
ETex: JouHE fRu

(1)
@
&)
@

(A)-(ID, (B)-(ILD), (C)-(D), (D)-(IV)
(A)-(IID), (B)-AD), (O)-(IV), (D)-(D
(A)-AD, (B)-A1D, (CO)-(IV), (D)D)
(A)-av). B)-d1h, (O)-al). M)-O

[Question ID = 1685][Question Description = Q75_24Punjabi Set1_A]

1
2
7
4. 4 [Option ID = 6740]

. 1 [Option ID = 6737]
. 2 [Option ID = 6738]

3 [Option ID = 6739]

Correct Answer -
e 1 [Option ID = 6737]

(A)
(B)
(©)
D)
(E)

yrrEt midenT (o9 yous mftws fedinr o fear g 9

HagHeTS! WEIeT

JUTE Aegaeret MEaaT
gs9-mrufsas=ret wdgn
YT Wwaee
fous-fefomres wrdes

I e o feam 5 Rt Fee § 92 -

(1
2
(3)
(4

(B). (D). (C), (A). (E)
(C). (B). (E), (D). (&)
(D). A), B). (B). (C)
A&). M), B). (O). (B)

[Question ID = 1686][Question Description = Q76_24Punjabi Set1_A]
1. 1 [Option ID = 6741]
| 2. 2 [Option ID = 6742)
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| 3. 3 [Option ID = 6743]
4. 4 [Option ID = 6744]

Carrect Answer :-
& 1 [Option ID = 6741]

(E) oW fiest Josat
Iz &2 o2 feamut fed’ Adt e § 9% ¢

L &), (D). B). (O). (E)

2 &), (B), (D), (O), (E)

3 (B), (D), (E), (O), (A)

(4 E), B), (C), D). (&)
[Question 1D = 1687][Question Description = Q77_24Punjabi Set1_A]
. 1 [Option ID = 6745]
2 [Option ID = 6746]

3 [Option ID = 6747]
. 4 [Option ID = 6748]

oW =

Correct Answer :-
& 1 [Opticn ID = 6745]

B) g
(C) fouas

M) us fig wrfee

(E) TWHAT

@O B). A, ©). (E). (1)
@ @), B, ©). D). E)
@  (©). B). D), ). E)
@ O @.©.®B.E

[Question ID = 1688][Question Description = Q78_24Punjabi Set1_A]
1. 1 [Option ID = 6749]
2. 2 [Option ID = 6750]
3. 3 [Option ID = 6751]
4, 4 [Option ID = 6752]

Correct Answer :-
e 1 [Option ID = £74%]

) it er-fiT T AR T T
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(A)
(B)
(©)
(D)

(E)

fowt & g
g @ He
B 2 3
et watar
firg w3 et

(L
2
(3)
(4

A). (O, (B). D). (B
(©). (B), D). (). (B)
(D), (B). (C), (A). (E)
(€). (A), @), (E), (B)

[Question ID = 1689][Question Description = Q79_24Punjabi Set1_A]

N N VU T

. 1 [Option ID = 6753]
2 [Option ID = 6754]
. 3 [Option ID = £755]
. 4 [Option ID = 6756]

Correct Answer :-
a 1 [Option ID = £753]

80)

wrgfea Unrdt afes g Yoo aferas v Rt gH @

()
®)
(&)
(D)
(E)

gsv—nrofen afesr
ywereTEt afes
yarsteret afest
Sifer afezr
Foraee afesT

3z o3 a2 fegmyt fed’ Aot Aee g 92 ¢

(1)
(2)
(3)
(4)

(A). (E), (B). (O). (D)
(B). (O), (D). (E), (A)
(O). D), (E). (B), (A)
D). (C), B). (E). (A)

[Question ID = 1690][Question Description = Q80_24Punjabi Set1_A]

oW =

Correct Answer :-

. 1 [Optien ID = 6757]
2 [Option ID = 6758

3 [Option ID = 6759]
. 4 [Option ID = 6760

e 1 [Option ID = 6757]

&% € Ju AuGl fATSE A5t Yo' I35 TEMT YASS €7 AOt a8-gH J ¢

(A)
(B)
(©)

=5 O ugy
Uit 378 = MEIaTSHE viftis
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[Question ID = 1691][Question Description = Q81_24Punjabi Set1_A]

D)
(E)

(L
@
(3
(4)

Ut 38
yrrdt 5o fog ofeq = feass

(A). B). (C). D). (B)
(B). (C), (D). (). (A4)
(0). D). (B). Q). B
D). (E), &), B). (O

1. 1 [Option ID = 6761]
2. 2 [Option ID = 6762
3. 3 [Option ID = 6763]

4. 4 [Option ID = 6764

Correct Answer :-

e 1 [Option ID = 6761]

[Question ID = 1692][Question Description = Q82_24Punjabi Set1_A]

WA fur vivy ¥ sreat @ ROt-T@aH ¥ ¢

(A)
(B
(©)
D)
(E)

(1)
(2)
3
4

nig formast

It

WIET BIES UgEaT
A3 e

fex At =fonr

(C). (A). (D). (B). (B)
(A). B). D). (O). (E)
(B), (€}, D). (E). (A)
D), (E), (A, (O). (B)

1. 1 [Option ID = 6765]
2. 2 [Option ID = £766]
3. 3 [Option ID = 6767]
4. 4 [Option ID = 6768)

Carrect Answer :-
& 1 [Option ID = 6765]

Faurar i Afgnare 5% ANOS YRSt 2 At aB-gH 3

(4)
(B)
(©)
(D)

(E)

= o= = L - -~

X °I9 T IS

B afe &t freas yfafanr
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WS IS VIS 1WA O ITY AWl e i.-J' E’L‘Z— -

1
2)
(3
(4

(A). (B). (C). (D). (E)
(B), (©). (D). (B), (&)
(©), (D). (E). ). (B)
(E). D). (C). (B). (A

[Question ID = 1693][Question Description = Q83_24Punjabi Set1_A]

N S PTRN  g

. 1 [Option ID = 6769]
. 2 [Dption ID = £770]
. 3 [Option ID = 6771]
4 [Option ID = 6772]

Carrect Answer :-
& 1 [Option ID = 6769]

(A)
®
(€)
(D)
(E)

Fmr, I fefamrs i3 davdt 3T 2 wiftoits REt yrfis yASS T At @H T

frarsw g fefomrs (7. I Yo fAw)
Ut I @ feaw (26T )

st 3T AT 3 Agy (3T, 3o fiw wevE)
I 2 g fefanrs (37, gasiss fiun)
fefsora s fefemrs (3. nirsy ffw)

3z &3 o feamyt fod’ Aot Few 3 92 ¢

(1)
(2)
(3)
(4)

(A). (©), D). (B). (E)
(©). (D), (B). V). (E)
(A). D), (C). (B). (E)
(B). D). A). (B). (C)

[Question ID = 1694][Question Description = Q84_24Punjabi Set1_A]
1. 1 [Optien ID = 6773]
2. 2 [Optien ID = 6774]
3. 3 [Optien ID = 6775]
4. 4 [Option ID = 6776]

Correct Answer -
e 1 [Option ID = 6773]

52 R T uF T ROl feaA-gH @
(A) 39 nTEaE
(B) Sarase
(C) Sufwmens
(D) FewE

35 &3 a2 fegmu o5 mt AR e 3 95 ¢

(1)
2

(&), (B), (C). (D)
D). ©). B). W
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(B). (&), (C). (D)
(©). (B). (A). (D)

[Question 1D = 1695][Question Description = Q85_24Punjabi Set1_A]

PR e e

Correct Answer

o 1 [Option ID =

. 1 [Option ID =
2 [Option 1D =
. 3 [Option ID =
. 4 [Gption ID =

6777)
6778
6779]
6780]

6777]

Izt € gus TIW U5 : feq v (A) T »S T aeE®) 91

T A wios Aagw feg mie gt 3, USoE  §E gW9 @ feT wmuEt Jv gfoe ooet § ol Ae-

fsd=9z niils feeae 9 |

g9z R: faGfa, mfos-us &t ofmr yewyse oRst det O, § 98K, Afgnieed w3 ANfAT S93fomt 3
TSS9t T4

SuIaz Fust Tt Swet fou fod feamy o9 mat €39 92

(1) ©5A»3 RAdI s w2 R, A At fonrfipor 31

(2) S5 Aw3RnAdosEfas R, A RS fonrfunr a3t 91

(3) AwdtY 3fas R A & T

4) ArRRzA §3fas R AR O

[Question ID = 1696][Question Description = Q86_24Punjabi Set1_A]
. 1 [Option ID = £781]
. 2 [Option ID = £782]

1
2

3, 3 [Option ID = 6783]
4. 4 [Option ID =

Correct Answer

* 1 [Option ID =

6784]

*
-

6781]

IS ETES TIN I5 : fem o (A) TS ew A9E(R) T

gmier A : T9 3 85 I ¥9 Ot odf Hfen A, aF° 35 @0 wlHl & fm & it a2

92 R

usas
(1)
(2)
(3)
(4)
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Fust @t IEst fog f5d feamut fod ROt €39 93

¥5 Aw3 R Adt o3 w3 R, A <t Adt fewrfipor 1

5 AvZ R At 75 3fas R, A & A<t fenrfimr 537 31
A At 9 3fas R At &9 91

A Fot 3t § &fas R Adt 91

[Question 1D = 1697][Question Description = Q87_24Punjabi Set1_A]
1. 1 [Option ID = 6785]
| 2. 2 [Option ID = 6786]
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| 3. 3 [Option ID = 6787]
4. 4 [Option ID = 6788]

Carrect Answer :-
& 1 [Option ID = 6785]

95" € ouw oW 95 : few TR (A) I »F v 9ER) 91 :
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YHUST W3 yI-RAignrar9a mgser S Unardt 39t femrssT 3 afgerst yors &1t

Susas st 9@ It feg s feamy fee Aot €39 98

(1) TEAMSRAF TS mE R, AT At fonrfitpr 3

(2) €5 Aw2 RnAg oS &fas R, A & Adt foorfipr 53t 31
(3) A Fdt T 3fas R At 59t T

(4) Ardtadt 9 3fas R A I

[Question ID = 1698][Question Description = Q88_24Punjabi Set1_A]
1. 1 [Option ID = 6789]
2. 2 [Option ID = 6790]
3. 3 [Option ID = 6791]
4. 4 [Option ID = 6792]

Carrect Answer :-
s 1 [Option ID = 6789]

Jo* € @us Ten 35 : fem v (A) I wiS T @eE®) 91 ¢
TMRT A UAHE Janie nings uferfastor € af yStas yeRfasir f9 709 feans afer 3
9 R : UWE Fa< 578 RGOS danie € g9y owet fen v ySy AEs 31

SuSas s @t IEet foo fad feam foe At €59 32

(1) TIAMZRAGMITTHI R, A At feonrfenr 31

(2) & Anw3 RAdGIs3fEs R, A<t A fourfimr adt 91
(3) A AT Bfas R AT & T

(4) A rdtsdt 3 3fas R A

[Question ID = 1699][Question Description = Q89_24Punjabi Set1_A]
1. 1 [Optien ID = 6793]
2. 2 [Optien ID = 6794]
3. 3 [Option ID = 6795]
4, 4 [Optien ID = 6?96]

Curre-::t A.nswer
e 1 [Option ID = 6793]

¥5* € aus g9 95 : fex emiwr (A) ¥ w3 g aOE(R) T

T A U 3 52 gondt it few aee & T09 efos 3 ast § 56T et 3 weT v &
Aofes 3 e &It et 91fer? Goc momdt @ ywer AR B9 g & gal-fe@s 3 mue

I95 OF mEt foules yaes Uer aaet sfodt T

Iz R : feo yAas Qoo Ay il @ yowr feg wouE wiget 9, gt fe femr ¥ <09 g

feaitdg st Aidhr 95 w3 €0 fed fewa few yoss & gehnt 951

Sudos aEs ¥ IEdl few o feamut fed’ Aot €39 32

(1) +TFAWMIRAR T2 R, A At fenrfipr 31

(2) TEAMIRAR TS as R, AT At foorfirr 33t 31
(3) A wdtI s R A 9t T4
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() Awdtadt §@fxs R At 3

[Question ID = 1700][Question Description = Q90_24Punjabi Set1_A]
1. 1 [Optien ID = 6797]
2. 2 [Option ID = 6798]
3. 3 [Optien ID = 6799]
4. 4 [Option ID = 6800]

Correct Answer -
e 1 [Option ID = 6797]
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Topic:- 24Punjabi Set1_B

1)

migs mitfir @ diw wrfos-fiome oo o fige 9° oo 1ufos &fesr ot yare @ & ws o8t wiee &
Faz @ fé8t 3192 w3 fowrar & fada 7 arfe-frane & ¥ 9, niRw fee wdgesHa ARG Ot 3 | frane-
yfsfr fies it w3 fetiar 39° fex A 09 99 99 O5 | = o) W IS S5 & oho F fdmer 3 w3 S
3 fea o &'® fge ¥ I wideer @ &N 37 Fuel S fagt & 9% Ao 3 ue foviar S fagr afe-fiewe @ Age
5dF | fola wSga3Ha a9H & ¢t adF afe frams &, At 799 At ARfasa frewe o afemt 93
T 1Hft 995 € foam gy § uEEe §F g9 & e yIew 3 St firs fegae TRy ufgst w3 gl
W T g Hfer 3180 aw 3 fefoprs SoF § @t fomirs S € gt Maw 9, few few ufodt v yeeer
I w3 gt Aawd |

SuIas U9 uId I3 fof ypst 2 39 fob:

wfos fraas famer Raz i &

(D
(3

3% 3 fanrar & 2) @z TFE wEIE T
Hoar 3 fetar = (4) wigs-nggst =

[Question ID = 1701][Question Description = Q91_24Punjabi Set1_B]

N N T T Y

1 [Option ID = 6801]
2 [Option ID = 6802]
. 3 [Option ID = 6803]
. 4 [Dption ID = £804]

Correct Answer :-
e« 1 [Option ID = £801]

2)  wfoz mitfmr 2 diw rfos-fiene fe @ fge 92 oo 1ufcd afer &t e § & s ot g @
Ao € fédt 3192 w2 fowrer & fada @ afe-fAenz & ¥ 9, niRw® feg wiessHa ARS &t 3 | frene-
yfafenr feg Aner w3 feviar 22 fex AN a9 95 9¢ To |1 5= fed AN @5 S37 3 fimr 3 fodaer 3 w3 €5
3 fex ER &% AFT 3 InrEee ¥ aX 3 Aua 3 fag & 98 Aeer 9 U9 fetier T fagt arfe-frowe &t Aow
| fabiT wrdvo=Ha AN T O 5O efe frewe =, Wt w9 miSt ARfgsa frame o gferst 33
113 35w @ feom gy § ueE® 3T 99 B Ffeq yoew 3 i forrs fegae oRe ufowt w3 gt
Hegr & 3t Hfewr 3180 o 3 fefamrs €07 § @ fomms St € g Hser 9, for fom ufest wr Yoo
3 w3 Tt Aoy |
Susas 9 ugd I3 ol yEet & O=9 b

WHIGSHS HATTT of ger J;
(1y I3z o foda
2 & 3 fefiprs o vizg-Reg
(3) I Trfsur ¥ Az-1m
(4) HadtISE  feIH gH

[Question ID = 1702][Question Description = Q92_24Punjabi Set1_B]

HE N PTR  Jy

. 1 [Option ID = 6805]
. 2 [Option ID = £806]
. 3 [Option ID = £807]
. 4 [Dption ID = £808]

Correct Answer :-
a 1 [Option ID = 6805]

3)

migs mitfinr 2 diw wrfos-fiome oo ot fige 98 oo 1ufod afesr ot yare @ & Wz o@t weee &
Aoz € fédt 3192 w3 fowrar & fada @ afe-frene & ¥ 9, niRw feg wiessHa ARS &t 3 | frenz-
yfafanr feg Anar w3 feviar 29 fex AN a9 93 9¢ 951971 fed Al g5 337 3 gfimr 3 fodaer 3 w3 €
3 fex gR 5'% AT 31 E9% © aH I A 5 fag @ 98 Aaer 9 w9 fetiar 5 fagt arfe-fione @ Ase
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BT TBYT WHISTHA TIH T T7 59T AT THOAET &, HIT W' AYDT AATGSA HORE ©F TI5nTel 3%
F1H3dt I3 @ foom g § YEEE 9T 99 & afew yIeR 3 Hfuw fomrs fesame TRe ufvst w2 oW
Hegr & 3t Hfewr 3189 s 3 fefamrs €07 § @ famrs St € g Hser 9, fer oo ufest wr Yoo
3 w3 Tl Aoy |

Susas 9 ugd I foi yEet & g9 ek
afe faawer far 93 € T919 As< odf

(1) &35 o HAS (2) H&Ea
(3) femm @ foi=

[Question ID = 1703][Question Description = Q93_24Punjabi Set1_B]
. 1 [Option ID = £809]
. 2 [Option ID = £810]
. 3 [Option ID = 6811]
. 4 [Option ID = 6812]

1
2
3
4

Carrect Answer :-
# 1 [Option ID = 6809]

migs mitfinr & diw wrfos-fiowe oo o fige 98 oo 1ufos afesr ot yare § & W o8t wiee &
Ao € fédt 3192 w3 fowrar & fada @ afe-frene & ¥ 9, niR® feg miessHa ARGCS &t 3 | frene-
yfafenr feg Anar w3 feviar 22 fex AN a9 93 9¢ 9o 15=1 fed AN @5 S37 3 fimr 3 fodae 3 m3 €5
3 fex gft &% ATEr § 1 0E9s © X 3 Aol 3 oyt & 99 Aaer 9 19 fetiar § fagt arfe-fiene @ Age
ot | fouT WSao3Ha TOH = & 5dr arfe fremer oo, WOt 9 mi9t Anfasa frene o afonrdt 33
F1H3dt I3wr @ foom gy § YEEE 9T 99 & afex yIeR 3 Hfuw fomrs fesame TRe ufvsdt w2 oW
Hegr & 3t Hfewr 3189 s 3 fefamrs S0F § @ famrs St € i Hser 9, fem fom ufest wr o
3 w3 Tl Aoy |

Susas 9 ugd I foi yEet & g9 ek

AAfgsa fAewe o gfanret 33 3¢

(1)
(3

Horar fegrar 2 T=3fra
Stz T arfeasr 4 fouz

[Question ID = 1704][Question Description = Q94_24Punjabi Set1_B]
1. 1 [Option ID = 6813]
2. 2 [Option ID = 6814]
3. 3 [Option ID = 6815]
4. 4 [Option ID = 6816]

Correct Answer ;-
& 1 [Option ID = 6813]

@

migs mitfinr @ diw wrfos-fiome oo ot fige 98 oo 1ufos &fesr of yare § & Wz o8t weee &
Aoz € féet 3192 S fowrar & fada @ afe-frene @ ¥ 9, niRw® feg wdessHa ARS &t 3 | frenz-
yfafenr feg Aner w3 feviar 22 fex AN a9 93 9< To 15=1 fed AN @5 S37 5 2fimr 3 fodae 3 w3 €5
3 fex gft &% ATEr § 1 0E9s © X 3 Fual 3 fagt & 99 Aaer 9 1@ fetiar § fagt arfe-fiene @ Age
it | feugr wESeTIHE T T O 5O afe feas =, W& 9 Mt ARfagsa freae e afewrst 33
J 1S 3% @ feoA gy § YeEE 9T 99 B afew yIeR 3 Hfuw fomrs fesare TRw ufost w2 oW
Hr & 3t Afewr 3189 e 3 fefamrs €07 § @ fomrs St € g Hser 9, fer fog ufest wr oo
3 w3 Tt Aasy |

&udas U9 ugd I foi yEet & O3 feb:
g9 nigAg ufast 3 gt Wy faodhr faodhr g5
3= 3 fonmar (2) Hoer 3 et
& 3 fefmrs (4) Eree 3 ATE

(3

[Question ID = 1705][Question Description = Q95_24Punjabi Set1_B]

1
2
3.
4

. 1 [Option ID = 6817]
. 2 [Option ID = 6818]
3 [Option ID = 6819]
. 4 [Option ID = 6820

Correct Answer ;-
e 1 [Option ID = £817]
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Topic:- 24Punjabi Set1_C

1)

WS IR &% I3t Ho uIfaest w3 Afewrare 59 fem-fia § & wiu fetier § A9 &9 Ao §) fiws Aust
@t Uewrg 3 faums ags feu fefamrs niR SeaidiaTs & 592 #OS<U9s 3% O niS oF 3 fER foe wreEhr
A9 g miffere a7® gsT e 91 few 43T o9 T v Aasa W Ot st v o 3188 ws-aw
€ &% faR 99 378 = AT <t o 7 ATE 9| U9 AR AUST @ ¥8-Iced s unar S dse fem g
Aaga U ® &8 &5 f9usa Afges @ o=t fe9 wr 7w 3| E@Agy I ¥ quet 3 fevroaed By dee-
fafent feg A3 Mvt-AfEnrarea myT &t 3ot afodt = vie 32 o ge § oS B o Hles w9 € fami
WEAG e%eT ger § 1 fer ®Et Hs-g fagr feng mifswr 5dt A Ao

Suias U9 uzd 35 foit yEst 2 Go9 feb:

WIUZE STET 5% HGY o A9 Ao J:

(L
2
(3
(4)

yafaest 3 Afgnes € RS 31

AT 3 UfgerE HBx gRee 3 |

yJfaaHt 3 Aferema 5% fea fid § & w2 fetar 31
files AU &t deredt AeeeHt 3

[Question ID = 1711][Question Description = Q96_24Punjabi Set1_C]
1. 1 [Opticn ID = 6841]
2. 2 [Option ID = 6842)
3. 3 [Option ID = 6843]
4, 4 [Option ID = 6844]

Correct Answer :-
a 1 [Option ID = 6841]

2) W IR &% Jt Ho uIfaest w3 Afenrare 59 few-fia § & wiu feter § A9 &9 Ao §) fiws Arust
@t Ueerg 3 faums ags feu fefamrs niR Soeieiaes & 592 #OS<U9s 3% O niS o 3 fER foe wrehr
A9 gt miffere 3% gz e 91 few U39 o9 3 v Aasa @ Ot @St few o 9188 ws-aw
€ &% fai 99 38T = AT <t 5 7 AT 9| Y9 FiRE AST @ ¥8-Iced e una S dse fem g
Faga U € &5 &5 f9usa Afgaes & o=t a9 wr 7w §| S@Agy I ¥ quet 3 feoaea iy dee-
fafont few A8 mmit-Afgnroea MyT &t afgdt 5fost o wiar a2 7 gor @ i & &t fies w9 € foms
WEAS eeT ger 91 fer wEt Hs-gw fagr feng mifswr 5dt A Ao
Suias d9 uzd 35 fod yEst 2 P9 feb:

I T Hasy JU € oSt fee o O

(1) fefomrs 3 Sasla &t 293 95 AR |

(2) fefamrs 3 Soaleiaes © Aot o Mt A |

(3) vt aa fog uefaast 3 Afgnrors © ARG AN

(4)  I-Hg b AHfAmre’ @ HO'9 396 AN |

[Question ID = 1712][Question Description = Q97_24Punjabi Set1_C]
1. 1 [Option ID = 6845]
2. 2 [Option ID = £846]
3. 3 [Option ID = 6847]
4. 4 [Option ID = 6848]

Carrect Answer :-
& 1 [Option ID = £845]

WS IR &% J9t Ho uIfaest w3 Rfewrare 59 few-fiua § & wiu feter § A9 &9 Ao §) fiws Aust
@t deerg 3 faums ags feu fefamrs wiR SwEidiaes & 592 HOS<USs 3% O niS o 3 fER foe wrehr
Fe9 g miffers &% g9 e 91 fen U39 59 7 v Aasa @ Ot oSt fow ol 918F ws-aw
€ &% faR 99 378 = AT <t o 7 AT 9| U9 AiRE AOST @ ¥8-Iced e una S dse fem g
Aasa U € &5 &5 f9usa Afgaes & o=t feg wr 7w 3| S@Agy I v quet 3 feueoea By dee-
fafont few A8 memit-AfgnrIea MYT &t afgd 5fodt = wiar a2 7 §o @ i & &t fies 79 € foms
WEAS e%eT ger 31 fer ®et Hs-gw fagr fewg mifswr &dt A Ao

Suias d9 uza 35 fox ymst 2 O feb:

FH @ Aafss gu § fogsa Rfgwrare & ATIEH §¢ T5:
(1) 3w T gg-wTEt YoeT A | (2) wW=I-gw 3 59 I T Rfgwa AN

et

N S L. | . v 1 e oy o Mowm B R TR TGN WD TR
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Ly IFIOIAD 3 WO T1 S99 nan | &) TR MTYN° © Yo TSC'TW 2 @49nul An |

[Question 1D = 1713][Question Description = Q98_24Punjabi Set1_C]
1. 1 [Option ID = 6849]
2. 2 [Option ID = 6850]
3. 3 [Option ID = 6851]
4. 4 [Option ID = 6852]

Carrect Answer :-
& 1 [Option ID = 6849]

D wm 3w T @ v wetReSt MR AT 578 fer-fia § & niu feti § A &9 ARE 9 Fies AT
@t dorerg 3 foums ags fog fefomrs nid swEidiags & 993 #dZeyas S8 3 w3 o 3 few foo wreinr
Fe9 g miffere &% g ge 91 few U39 o9 3w v Aasa @ Ot ast few ol 9188 ws-aw
€ &% faR 99 38 = AT <t o 7 ATE 9| U9 ARG AOST @ ¥S-Iced e ura S dse fem g
Fasa U ¥ &5 &5 f9usa Afgaes & o=t feg wr 7w 3| S@Agy I ¥ quet 3 fegooea dy dee-
fafeni few A8 mmit-Afgnrosa myT &t afgd =5fodt = wiar 32 w2 go O »iS & @t fies 79 @ fomr
WEAS e%eT ger 31 fer ®et Hs-g fagr feng mifswr 5dt A Ao

Suias d9 uzd 35 fou yEst 2 Oo9 feb:

W3-z faer foang sdt AMfsnr W Aeer:

(1) &= ® fiws 79 MEAT I T8 THE AT 3 |

(2) feforws 3 Sa3tdices AN SSSt AE T8I AT 5

(3) W, TSt 3 Ao & e 31

(4) ils AT 3 I5-TTE9 € wOA 3
[Question ID = 1714][Question Description = Q99_24Punjabi Set1_C]
. 1 [Option ID = 6853]
2 [Option ID = 6854]

3 [Option ID = 6855]
. 4 [Option ID = £856]

N VT X

Correct Answer :-
s 1 [Option ID = £853]

2) WS IR &% It Ho uSfaest w3 Afenrare 5% fem-fiua § & wuZ fetar § A9 &9 AT 9) Fiws Aust
@t deerg 3 faums ags feu fefamrs wiR SwEiiaTs & 592 HOS<U9s 3% O niS o7 3 fER fee wrehr
Fe9 gt miffere a7® goT e 91 few U39 o9 I v Aasa W Ot @St v o 9188 ws-aw
€ &% faR 99 I8 = AT <t 5 7 ATE 9| Y9 ARG AUST @ ¥8-Iced s una S dse fem g
Aasa U € &5 &5 f9usa Afgaes & o=t fe9 wr 7w 3| E@Agy I ¥ quet 3 fevreamea iy dee-
fafonr fe A3 AHTT-AfEwreaa AYT =t afodt afot = wiar a2 T gor O w3 & & divs 79 @ fomd
WEAS e%eT ger § 1 feR ®Et Hs-g fagr feng mifswr 5dt A Ao

Suias d9 uzd 35 foi yrst & P9 feb:

g & quelt 3 fegrauraw Wy ot G der O

(1) w3y T yfaest, Afgwrae 3 3 &5 few fim 3= 3

2 fefomrs 3 SoEieleEs dt Aufiret 3 35 a3 &t affm AR

(3) ies AusT 3 I5-Toes € Qution T s §AST § S&THE AR |
(4) I, SRS 3 Ao AigWOR AYT € Jfos-afest v fom a=a)
[Question ID = 1715][Question Description = Q100_24Punjabi Set1_C]
1 [Option ID = 6857]
. 2 [DOption ID = £858]

. 3 [Option ID = £859]
. 4 [Dption ID = £860]

HE N PTE  Jy

Correct Answer :-
a 1 [Option ID = £857]



